

The World's Largest Open Access Agricultural & Applied Economics Digital Library

This document is discoverable and free to researchers across the globe due to the work of AgEcon Search.

Help ensure our sustainability.

Give to AgEcon Search

AgEcon Search
http://ageconsearch.umn.edu
aesearch@umn.edu

Papers downloaded from **AgEcon Search** may be used for non-commercial purposes and personal study only. No other use, including posting to another Internet site, is permitted without permission from the copyright owner (not AgEcon Search), or as allowed under the provisions of Fair Use, U.S. Copyright Act, Title 17 U.S.C.

California Department of Food and Agriculture

Agricultural Commissioners' Crop Reports

Stanislaus County

1928-1946

California County Agricultural Commissioners' Reports from the California Department of Food and Agriculture. This collection consists of annual crop and livestock data from each of the 58 California Counties. The collection covers 1915-1981; digitization of the rest of the collection is forthcoming.

This digitization project was funded by the Giannini Foundation of Agricultural Economics, http://giannini.ucop.edu/.

The work was completed by the staff of the Giannini Foundation Library, University of California, Berkeley, http://are.berkeley.edu/library/. Please contact the Library to consult the originals.

STANISLAUS COUNTY

1928 - 1981

ST. K. STANISLAUS COUNTY ACREAGE AND ESTIMATED VALUE OF CROPS, LIVESTOCK AND LIVESTOCK PRODUCTS FOR THE YEAR 1928

Propered by Agricultural Extension Service

| Crop | Producing Acreage | Estimated Value |
|-------------------------------|-------------------|--|
| Cantaloupes | 5,200 | \$ 500,000 |
| Honey Dew, Casabac & Persians | 4,100 | 1,200,000 |
| Vatermelons | 3,000 | 488,000 |
| Sweet Potatoes | 3,400 | 400,000 |
| Tomatoes | 650 | 85,000 |
| Spinach | 650 | 1.40,000 |
| Peas | 1,100 | 75,000 |
| Other Garden Truck | 500 | 150,000 |
| | 18,600 | \$ 3,038,000 |
| FRUITS, G | RAPES AND NUTS | |
| Almonds | 4,800 | \$ 550,000 |
| Apricots | 4,500 | 450,000 |
| Figs | 2,500 | 250,000 |
| Peaches - Clings | 9,000 | 780,000 |
| Freestones | 3,500 | 400,000 |
| Grapes - Raisin | 10,500 | 525,000 |
| Table | 7,000 | 404,000 |
| Wine | 9,000 | 1,100,000 |
| All Other Fruits | 2,900 | 750,000 |
| STI ORIGIN LIGITOR | | Marting and the state of the st |
| | 53,700 | \$ 5,239,000 |

| Crops | Pro | ducing Acreage | Estimated Value |
|-----------------------------|-----------|----------------|---|
| Alfalfa | | 75,000 | \$ 4,100,000 |
| Grain Hay | | 15,000 | 750,000 |
| Beans | | 35,000 | 2,000,000 |
| Rice | | 3,100 | 225,000 |
| Grains | | 95,000 | 2,075,000 |
| Grain Sorghum, etc. | | 9,000 | 40,000 |
| Cotton | • | 650 | 50,000 |
| 00000 | | | |
| | | 23: ,750 | 9,240,000 |
| r ተፕፖ _ራ ካ | STOCK AND | PMIT.TRY | |
| | OTOOL ALL | | \$10,000,000 |
| Dairying and Dairy Products | | | 1,750,000 |
| Poultry and Eggs | | | 2,000,000 |
| Beef Cattle | | | 350,000 |
| Hogs | | | 750,000 |
| Sheep and Wool | | • | ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, |
| | | | \$14,850,000 |
| | | | |
| | SUMMA | R Y | |
| Truck Crops | | 232,750 | \$ 9,240,000 |
| Fruits, Grapes & Nuts | | 18,600 | 3,038,000 |
| Field Crops | | | 5,209,000 |
| Livestock & Poultry | | | 14,850,000 |
| Grand Total | | 305,050 | \$32,337,000 |

STANISLAUS COUNTY

ACREAGD ESTIMATED VALUE OF CROPS, LIVESTOCK AND LIVESTOCK PRODUCTS FOR THE YEAR 1929

Prepared by Agricultural Extension Service

| Crops | Producing Acreage | Estimated Value |
|--------------------------------|-------------------------------|-----------------|
| Cantaloupe | 4,800 | \$ 400,000 |
| Honey Dewissabas, and Persians | 4,500 | 670,000 |
| Watermelor | 3,300 | 285,000 |
| Sweet Potes | 3,400 | 340,000 |
| Tomatoes | 850 | 70,000 |
| Spinsch | 750 | 125,000 |
| Peas | 1,000 | 60,000 |
| | 600 | 125,000 |
| Other Gazi Truck | distribution section (II) and | |
| | 19,200 | 2,075,000 |
| | | |
| fruits, (| GRAPES AND NUTS | |
| Almonds | 5,100 | 250,000 |
| Apricots | 5,500 | 600,000 |
| Figs | 2,500 | 350,000 |
| Peaches -ling | 9,500 | 1,550,000 |
| | 3,700 | 650,000 |
| Freestone | 9,500 | 740,000 |
| Propes - misin | 6,000 | 620,000 |
| able | | 1,150,000 |
| ing | 10,000 | 750,000 |
| All OtherFruits | 3,200 | 7,0,000 |
| | 55,000 | 6,660,000 |

| Crops | Producing Acreage | Estimated Value |
|-----------------------------|-------------------------------------|-----------------|
| Alfalfa | 80,000 | \$4,700,000 |
| Grain Hay | 20,000 | 900,000 |
| Beans | 40,000 | 2,525,000 |
| Rice | 2,000 | 150,000 |
| Grains | 85,000 | 1,750,000 |
| Grains Sorghum, etc. | 6,500 | 30,000 |
| Cotton | 1,800 | 90,000 |
| | | |
| | 235,300 | \$10,145,000 |
| | | |
| LIVESTOCK | AND POULTRY | |
| Dairying and Dairy Products | | \$ 8,800,000 |
| Poultry and Eggs | | 1,700,000 |
| Beef Cattle | | 1,750,000 |
| Hogs | | 500,000 |
| Sheep and Wool | | 700,000 |
| | | |
| | | \$13,450,000 |
| | | |
| s u m | MARY | |
| Truck Crops | 19,200 | \$ 2,075,000 |
| Fruit, Grapes and Nuts | 55,000 | 6,660,000 |
| Field Crops | 235,300 | - 10,145,000 |
| Livestock and Poultry | | 13,450,000 |
| | · comment of the comment | |
| Grand Total | 309,500 | \$32,330,000 |

STANISLAUS COUNTY
REAGE AND ESTIMATED VALUE OF CROPS, LIVESTOCK AND LIVESTOCK PRODUCTS
FOR THE YEAR 1930

Prepared by Agricultural Extension Service

| Producing Acreage | Estimated Value |
|-------------------|--|
| 2,800 | \$ 450,000 |
| 4,600 | 1,175,000 |
| 2,300 | 400,000 |
| 3,400 | 450,000 |
| 2,500 | 375,000 |
| 50 | 7,500 |
| 750 | 23,500 |
| 350 | 38,000 |
| 500 | 130,000 |
| | And the second s |
| 17,250 | \$ 3,049,000 |
| | |
| PES AND NUTS | |
| 5,136 | \$ 480,000 |
| 5,525 | 315,000 |
| 9,535 | 1,516,000 |
| 3,750 | 650,000 |
| 2,800 | 300,000 |
| 8,900 | 600,000 |
| 4,800 | 375,000 |
| 10,250 | 1,000,000 |
| 920 | 144,000 |
| 2,462 | 575,000 |
| 54.078 | \$ 5,955,000 |
| | 2,800 4,600 2,300 3,400 2,500 50 750 350 500 17,250 PES AND NUTS 5,136 5,525 9,535 3,750 2,800 8,900 4,800 10,250 920 |

| Crops | Producing Acreage | Estimated Value |
|---------------------------------|--|----------------------|
| Alfalfa | 82,000 | \$ 3,950,000 |
| Grain Hay | 15,000 | 350,000 |
| Beans | 39,000 | 1,470,000 |
| Rice | 2,100 | 178,000 |
| Grains | 45,000 | 856,000 |
| Grain Sorghums, etc. | 4,800 | 72,000 |
| Pasture (Native and cultivated) | 350,000 | 715,000 |
| | and the state of t | |
| | 537,900 | \$ 7,591,00 0 |
| | | |
| LIVESTOCK | AND POULTRY | |
| Dairying and Dairy Products | | \$ 8,750,000 |
| Poultry and Eggs | | 1,500,000 |
| Beef Cattle | | 1,650,000 |
| Hogs | | 150,000 |
| Sheep and Wool | | 650,000 |
| | | |
| | | \$12,700,000 |
| | | |
| <u>su</u> | MARY | |
| Truck Crops | 17,250 | \$ 3,049,000 |
| Fruits, Grapes and Nuts | 54,079 | 5,955,000 |
| Field Crops & Pasture | 537,900 | 7,591,000 |
| Livestock and Poultry | | 12,700,000 |
| | | |
| | 609,229 | \$29,295,000 |

193/

STANISLAUS COUNTY ACREAGE AND ESTIMATED VALUE OF CROPS, LIVESTOCK AND LIVESTOCK PRODUCTS FOR THE YEAR 1931

Prepared by Agricultural Extension Service

| Crops | Producing Acreage | Estimated Value |
|-----------------------------------|-------------------|-----------------|
| Cantaloupes | 2,750 | \$ 225,000 |
| Honey Dews, Casabas, and Persians | 3,250 | 560,000 |
| Watermelons | 2,000 | 144,000 |
| Sweet Potatoes | 3,100 | 280,000 |
| Tomatoes | 1,800 | 185,000 |
| Peas | 700 | 21,000 |
| Lettuce | 65 | 55,000 |
| Other Garden Truck | 550 | 135,000 |
| | | |
| | 13,740 | \$ 1,605,000 |
| | | |
| FMUITS, GRAI | PES AND NUTS | |
| Almonds | 5,136 | 325,000 |
| Apricots | 5,640 | 302,000 |
| Peaches - Cling | 8,730 | 680,000 |
| Freestone | 3,600 | 451,000 |
| Figs | 1,800 | 160,000 |
| Grapes - Raisin | 7,200 | 450,000 |
| Table | 2,300 | 175,000 |
| Wine | 11,250 | 1,095,000 |
| Walnuts | 1,200 | 145,000 |
| All Other Fruits, Berries | 2,462 | 415,000 |
| | | |
| | 49,318 | \$ 4,198,000 |

| Crops | Producing Acreage | Estimated Value |
|-----------------------------|--|--|
| Alfalfa | 79,000 | \$ 4,062,000 |
| Grain Hay | 16,000 | 240,000 |
| Cotton | 496 | 20,580 |
| Beans | 49,850 | 1,760,000 |
| Rice | 1,500 | 131,000 |
| Grains | 73,000 | 816,000 |
| Grain Sorghum, Corn, etc. | 7,100 | 198,000 |
| Pasture | . 362-000 | 537,000 |
| | Specification of the second state of the secon | The second like the second linduction like the second like the second like the second like the |
| | 588,946 | \$ 7,764,500 |
| | | |
| LIVESTO | OK AND POULTRY | |
| Dairying and Dairy Products | • | \$ 7,100,000 |
| Poultry and Eggs | | 1,320,000 |
| Beef Cattle | | 1,720,000 |
| Hogs | | 162,000 |
| Sheep and Wool | | 750,000 |
| | | |
| | | \$11,052,000 |
| | | |
| <u>s u</u> | MMARY | |
| Truck Crops | 13,740 | \$ 1,605,000 |
| Fruits, Grapes and Nuts | | 4,198,000 |
| Field Crops | 5 88 ,946 | 7,704,500 |
| Livestock and Poultry | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | 11,052,000 |
| | erendik wili serida | And the state of the same of the state of the state of the same |
| Grand Total | 652,004 | \$24,619,000 |

STANISLAUS COUNTY ACREAGE AND ESTIMATED VALUE OF CROPS, LIVESTOCK AND LIVESTOCK PRODUCTS FOR THE YEAR 1932:

Prepared by Agricultural Extension Service

| TRUCK | UROPS | |
|-------------------------------------|-------------------|-----------------|
| Crops | Producing Acreage | Estimated Value |
| Cantaloupes | 2,700 | \$ 160,000 |
| Honey Dews, Casabas, Persians, etc. | 3,100 | 252,000 |
| Watermelons | 2,500 | 182,000 |
| Sweet Potatoes | 3,600 | 215,000 |
| Tomato as | 1,500 - | 120,000 |
| Le ⁺ tuce | 7 5 | 5,000 |
| Peas | 650 | -18,000 |
| Spinach | 400 | 21,000 |
| Other Garden Truck | 600 | 118,000 |
| | 15,125 | \$1,091,000 |
| FRUITS, GRA | PES AND NUTS | |
| Almonds | 5,136 | 226,000 |
| Apricots | 5,725 | 286,350 |
| Peaches - Cling | 7,760 | 322,650 |
| Freestone | 3,400 | 350,000 |
| Figs | 1,200 | 63,000 |
| Grapes - Raisin | 6,100 | 366,000 |
| Table | 1,952 | 96,000 |
| Wine | 12,600 | 554,000 |
| Walnuts | 1,300 | 156,000 |
| All Other Fruits, Berries, etc. | 2,462 | 283,000 |
| (Bearing Acr | eage) 47,635 | \$ 2,703,000 |

| Crops | Producing Acreage | Estimated Value |
|---|-------------------|-----------------|
| Alfalfa | 90,000 | \$2,460,000 |
| Grain Hay | 18,000 | 261,000 |
| Cotton | 300 | 9,500 |
| Beans | 32,000 | 1,002,000 |
| Rice | 1,700 | 92,000 |
| Grains | 78,000 | 846,500 |
| Grain Sorghum, Corn, etc. Sunflowers, seeds, etc. | 11,200 | 318,000 |
| Pasture - (includes cultivated pastures Ladino, Sudan Grass, and native pasture (Ladino - 5000 acres) | | 527,000 |
| | 587,200 | \$ 5,516,000 |
| LIVESTOCK AI | ND POULTRY | |
| Dairying and Dairy Products | | \$ 5,232,000 |
| Poultry and Eggs | | 1,001,000 |
| Rabits | | 25,000 |
| Beef Cattle | | 1,875,000 |
| Hogs | | 175,000 |
| Sheep and Wool | | 230,000 |
| Horses and Mules | | 15,000 |
| | | \$ 8,553,000 |
| SUMM | ARY | |
| Truck Crops | 15,125 | \$ 1,091,000 |
| Fruit, Grapes and Nuts | 47,635 | 2,703,000 |
| Livestock and Poultry | ••• | 8,553,000 |
| Field Crops | 557,200 | 5,516,000 |
| Grand Total | 619,960 | \$17,863,000 |

STANISLAUS COUNTY

ACRYAGE AND ESTIMATED VALUE OF CROPS, LIVESTOCK AND LIVESTOCK PRODUCTS FOR THE YEAR 1933

Prepared by Agricultural Extension Service

| Crops | Producing Acresge | Estimated Value |
|-------------------------------------|--------------------------------|--|
| Canteloupes | 1,200 | \$ 48,000 |
| Honey Dors, Persians, Cosabas, etc. | 1,050 | 65,000 |
| Watermelons | 800 | 120,000 |
| Speet Potatoes | 1,800 | 176,000 |
| Tomatoes | 400 | 26,400 |
| Pens | 630 | £1,000 |
| Spinach | 415 | 24,000 |
| Other Garden Pruce | 600 | 205,000 |
| | distributed to the contraction | Charles and the same of any order of the same of the s |
| | 6,865 | \$ 605,400 |
| | | |
| FRUITS, GRAF | EE AND NUES | |
| Almonds | 5,136 | \$ 201 , 480 |
| Apricots | 5,725 | 768,000 |
| Peaches - Clingstone | 7,760 | 700,000 |
| Freestone | 3,400 | 450,000 |
| Figs | 1,200 | 75,900 |
| Grapes - Reisin | 6,100 | 265,000 |
| Table | 1,952 | 90,000 |
| Wine | 12,600 | 606,000 |
| Walnuts | 1,300 | 165,000 |
| All Other Fruits, Berries, etc. | 2,462 | 318,000 |
| | | |
| (Bearing Acres | (e) 47,635 | \$ 3,718,480 |

| · · · | | |
|--|-------------------|-----------------|
| Crops | Froducing Acresse | Estimated Value |
| Alfalfa | 120,000 | \$ 3,967,000 |
| Grain Hey | 15,000 | 240,000 |
| Cotton | 496 | 20,580 |
| Beans | 49,850 | 1,250,000 |
| Rice | 4,600 | 175,000 |
| Grains | 73,000 | 816,000 |
| Grein Sorghum, Corn, etc. Sunflowers (seeds, etc) | 11,800 | บรัล *000 |
| Pasture (includes cultivated pastures Ladino, Sudan Grass and native pastures, Ladino - 5,000 acres) | 362,333 | 537,000 |
| | 636,746 | \$ 7,259,560 |
| LIVESTOCK | AND POULTRY | |
| Darying and Dairy Products | | \$ 6,065,000 |
| Poultry and Eggs | | 1,125,000 |
| Rabbits | | 35,000 |
| Beer Cattle | | 1,350,000 |
| Hogs | | 112,000 |
| Sheep and Wool | | 350,000 |
| Horses and Mules | | 15,000 |
| | | \$ 9,052,000 |
| SUM | MARY | |
| Truck Crops | 6,865 | \$ 605,400 |
| Fruits, Grapes and Nuts | 47,635 | 3,716,480 |
| Livestock and Poultry | s à: 2 0. a | 9,052,000 |
| Field Crops | 636,746 | 7,253,580 |
| | 691,246 | \$21,289,463 |

STANISLAUG COUNTY

ACREAGE AND ESTIMATED VALUE OF CROPS, LIVESTOCK AND LIVESTOCK PRODUCTS

FOR THE YEAR 1934

Prepared by Agricultural Extension Service October 24, 1934

| TRUCE | CROPS | |
|----------------------------------|---------------------|-----------------|
| Crops | Producing Agreage | Estimated Value |
| Cantaloupes | 1,053 | \$ 168,000 |
| Honey Dews, Persians, Casabas | 1,204 | 338,000 |
| Watermelons | 890 | 131,000 |
| Sweet Potatoes | 2,027 | 206,000 |
| Tomatoes | 1,211 | 117,000 |
| Peas | 900 | 39,600 |
| Spinech | 386 | 23,500 |
| Other Garden Truck | 2,188 | 826,300 |
| | 9,859 | \$ 1,849,400 |
| FRUI! | rs, grapes and nuts | |
| Almonds | 5,172 | \$ 271,000 |
| Apricots | 5,789 | 650,000 |
| Peaches - Clingstone | 5,329 | 790,000 |
| Freestone | 3,220 | 382,000 |
| Figs | 1,070 | 63,500 |
| Grapes - Raisin | 7,200 | 524,800 |
| Table | 1,921 | 123,100 |
| Wine | 11,630 | 963,400 |
| Walnuts | 2,638 | 166,000 |
| All Other Fruits (Berries, etc.) | 2,384 | 317,000 |
| | 46,353 | \$ 4,250,800 |

| Crops | Producing Acreage | Estimated Value |
|----------------------------------|--|--|
| Alfalfa | 83,738 | \$ 2,930,690 |
| Grain Hay | 21,000 | 260,000 |
| Cotton | 1,169 | 12,765 |
| Beans | 46,790 | 1,462,000 |
| Rice | 4,207 | 183,000 |
| Grains | 86,000 | 1,117,000 |
| Grain Sorghum, Corn, Seeds, etc. | 12,785 | 396,000 |
| Ladino Clover (Pasture) | 9,087 | 417,000 |
| Sudan Grass (Pesture) | 17,830 | 265,000 |
| Native Pastures | 338,000 | 477,000 |
| | Administração regular de Francisco de Seculos de Seculo | |
| | 620,606 | \$ 7,520,455 |
| LIVESTOCK | AND POULTRY | |
| Dairying and Dairy Products | | \$ 5,901,000 |
| Poultry and Eggs | | 1,215,000 |
| Rabbits | | 31,000 |
| Beef Cattle | | 250,000 |
| Hogs | | 221,000 |
| Sheep and Wool | | 687,000 |
| Horses and Mules | | 17,000 |
| Hone | | 12,000 |
| | | all the final track the figure have been discovered as |
| | | \$ 8,334,000 |
| n tr u | ar a mar | |
| | MARY | |
| Truck Crops | ••••• 9 ₀ 859 | \$ 1,849,400 |
| Fruits, Grapes and Nuts | | 4,250,800 |
| Field Crops | * | 7,520,455 |
| Livestock and Poultry | * * * * * * * * * * * * * * * * * * * | 8,334,000 |
| | 676,818 | \$21,954,655 |

STANISLAUS COUNTY APREAGE AND ESTIMATED VALUE OF CROPS, LIVESTOCK AND LIVESTOCK PRODUCTS FOR THE YEAR 1935

Prepared by Agricultural Extension Service

| Crops | Producing Acreage | Estimated Value |
|---------------------------------|--|---|
| Cantaloupes | 1,053 | \$ 168,000 |
| Honey Dews, Persians, Casabas | 1,204 | 338,000 |
| Watermelons | 890 | 131,000 |
| Sweet Potatoes | 2,027 | 206,000 |
| Tomatoes | 1,211 | 117,000 |
| Pess | 900 | 39,600 |
| Spinach | 386 | 23,500 |
| Other Garden Truck | 2,188 | 826,300 |
| | Company of the Compan | nere Verte am and pain and part and a second |
| | 9,859 | \$ 1,849,400 |
| | | |
| FRUITS, GR | APES AND NUTS | |
| Almonds | 5,072 | \$ 271,000 |
| Apricots | 5,589 | 650,000 |
| Peaches - Clingstone | 6,449 | 790,000 |
| Freestone | 3,220 | 382,000 |
| Figs | 1,070 | 63,500 |
| Grapes - Raisin | 7,200 | 524,800 |
| Table | 1,921 | 123,100 |
| Wine | 11,630 | 963,400 |
| Walnuto | 2,638 | 166,000 |
| All Other Fruits, Berries, etc. | 2,384 | 317,900 |
| | 47,173 | \$ 4,250,800 |

| Crops | Producing Acreage | Estimated Value |
|-----------------------------------|-------------------|---------------------|
| Alfalfa | 83,738 | \$ 2,930,690 |
| Grain Hay | 21,000 | 260,000 |
| Cotton | 1,189 | 12,765 |
| Beans | 46,790 | 1,362,000 |
| Rice | 5,207 | 283,000 |
| Grains | 86,000 | 1,117,000 |
| Grain Sorghu m, Corn, Seeds, etc. | 12,785 | 396,000 |
| Ladino Clover (Pasture) | 9,087 | 417,000 |
| Sudan Grass (Pasture) | 17,830 | 265,000 |
| Native Pastures | 338,000 | 477,000 |
| | 621,626 | \$ 7,520,455 |
| LIVESTOC | AND POULTRY | |
| Dairying and Dairy Froducts | | \$ 5,901,000 |
| Poultry and Eggs | | 1,215,000 |
| Rebb1ts | | 31,000 |
| Beef Cattle | | 850,000 |
| Hogs | | 221,000 |
| Sheep and Wool | | 687,000 |
| Horses and Mules | | 17,000 |
| Honey | | 12,000 |
| | | \$ 8,934,000 |
| <u>នប</u> | MMARY | |
| Truck Crops | 9,859 | \$ 1,849,400 |
| Fruits, Grapes and Nuts | | 4,250,800 |
| Field Crops | | 7,520,455 |
| Livestock and Poultry | | 8,934,000 |
| | 678,658 | \$22,554,655 |

Stanislaus County

ACREAGE AND ESTIMATED VALUE OF CROPS, LIVESTOCK AND LIVESTOCK PRODUCTS for the year 1936

Frepared by Agricultural Extension Service
from data furnished by
State Crop Reporting Service, Irrigation Districts in the County
and other available sources
October 9, 1936

| Crop | Producing Acreage | Estimated Value |
|---|----------------------|-----------------|
| Cantaloupes | 957 | \$ 127,000 |
| Honey Dews, Persians, Casabas | 1,252 | 245,000 |
| Watermelons | 686 | 104,900 |
| Sweet Potatoes | 1,738 | 217,615 |
| Tomatoes | 3,868 | 342,850 |
| Other Garden Truck (peas, lettuce, spinach, onions, sweet corn, etc.) | 4,429 | 1,105,700 |
| | 12,930 | \$2,143,065 |
| FRUITS, GRAPES AND NUTS | | |
| Almonds | 7,497 | \$ 190,950 |
| Apricots | 5,089 | 678,000 |
| Peaches (clingstone) | 5,840 | 1,270,000 |
| Peaches (freestone) | 2,850 | 460,000 |
| Figs | 951 | 78,000 |
| Grapes (raisin) | 5,004 | 315,000 |
| Grapes (table) | 1,396 | 109,280 |
| Grapes (wine) | 10,703 | 626,125 |
| Walnuts | 3,084 | 256,000 |
| All other Fruits (berries, etc.) | 1,502 | 250,000 |
| | 43,916 | \$4,233,355 |

FIELD CROPS AND PASTURE

| | lanted creage | Estimated Value |
|---|------------------|-------------------|
| Alfalfa | 65,231 | \$ 2,760,000 |
| Grain Hay | 22,116 | 309,635 |
| | 592 | 19,250 |
| Cotton | 59,790 | 1,863,600 |
| Beans | 4,928 | 169,500 |
| Rice | 96,527 | 1,325,000 |
| Grains | 988 | 31,650 |
| Flax | 147 | 13,230 |
| Sugar Beets | 6,237 | 189,110 |
| Grain Sorghum, Corn, Seeds | 5,682 | 252,000 |
| Silage Corn | 17,186 | 702,420 |
| Ladino Clover (pasture) | · | 48,000 |
| Sudan Grass (pasture) | 3,127 | |
| Sub-Total | 282,551 | \$ 7,683,395 |
| Native Pastures | 317,431 | 576,145 |
| Fallow, Idle Land, Non-bearing Fruits and Nuts | 131,404 | |
| Sub-total Planted Acreage (field crops and pasture) | 731,386 | \$ 8,259,540 |
| Sub-total Producing Acreage (truck crops, fruits, grapes, nuts) | 56,846 | \$ 6,376,420 |
| Total Farm Land in County (84.9% in farms) | 788,232 | \$14,635,960 |
| Non-Agricultural Land in County | 139,768 | |
| Total Number Acres in County | 928,000 | (1935 U.S. Census |

LIVESTOCK AND POULTRY

| | Estimated Value |
|--|-----------------|
| Dairying and Dairy Froducts | \$ 7,050,000 |
| Poultry and Eggs (chickens \$1,592,800, turkeys \$150,000) | 1,742,800 |
| Rabbits | 24,000 |
| Beef Cattle | 1,998,000 |
| Hogs | 218,000 |
| Sheep and Wool | 969,000 |
| Horses and Mules | 20,000 |
| Honey | 28,500 |
| | \$12,050,300 |

SUMMARY

| Crop | Acreage | Estimated Value |
|---|---------|--|
| Truck Crops | 12,930 | \$ 2,143,065 |
| Fruits, Grapes and Nuts | 43,916 | 4,233,355 |
| Field Crops and Pasture | 731,386 | 8,259,540 |
| Livestock and Poultry | | 12,050,300 |
| Grand Total | 788,232 | \$26,686,260 |
| Total area in farms (acres) Total area in county (acres) | • | (1935 U.S. Census) (1935 U.S. Census) n farms) |

Stanislaus County

ACREAGE AND ESTIMATED VALUE OF CROPS, LIVESTOCK AND LIVESTOCK PRODUCTS for the year 1937

Prepared by Agricultural Extension Service
from data obtained from
the 1937 Agricultural Conservation Census, State Crop Reporting Service,
Irrigation Districts, and other available sources in the county

October 1, 1937

| Crop | Producing Acreage | Estimated Value |
|---|----------------------|--------------------|
| Cantaloupes | 998 | \$ 141,000 |
| Honey Dews, Persians, Casabas | 1,253 | 362,000 |
| Watermelons | 576 | 116,000 |
| Sweet Potatoes | 859 | 107,400 |
| Tomatoes | 1,928 | 215,900 |
| Other Garden Truck (peas, lettuce, spinach, onions, sweet corn, etc.) | 4,212 | 1,053,100 |
| | 9,826 | \$1,995,400 |
| FRUITS, GRAPES AND NUTS | <u>S</u> | |
| Almonds | 3,940 | \$ 254,000 |
| Apricots | 5,185 | 868,000 |
| Peaches (clingstone) | 6,130 | 2,268,000 |
| Peaches (freestone) | 2,950 | 550,000 |
| Figs | 951 | 82,000 |
| Grapes (raisin) | 5,300 | 420,000 |
| Grapes (table) | 1,396 | 154,000 |
| Grapes (wine) | 9,786 | 758,000 |
| Walnuts | 3,084 | 282,000 |
| All other Fruits (berries, etc.) | 1,302 | 241,000 |
| | 40,024 | \$5,877,000 |

FIELD CROPS AND PASTURE

| <u>Crop</u> | roducing Acreage | Estimated Value |
|---|---------------------|----------------------|
| Alfalfa | 68,019 | \$ 3,582,000 |
| Grain Hay | 18,036 | 442,000 |
| Cotton | 2,057 | 42,000 |
| Beans | 62,113 | 2,067,000 |
| Rice | 4,496 | 145,100 |
| Grains | 86,817 | 1,580,000 |
| Flax | 2,806 | 46,000 |
| Sugar Beets | 981 | 69,090 |
| Grain Sorghum, Corn, Seeds | 4,268 | 128,040 |
| Silage Corn | 3,568 | 165,000 |
| Ladino Clover (pasture) | 27,049 | 1,152,450 |
| Sudan Grass (pasture) | 4,127 | 77,000 |
| Sub-Total | 284,337 | \$ 9,495,680 |
| Native Pastures | 217,430 | 334,860 |
| Fallow, Idle Land, Non-bearing Fruits and Nuts | 236,615 | |
| Sub-total Planted Acreage (field crops and pasture) | 738,382 | \$ 9,830,540 |
| Sub-total Producing Acreage (truck crops, fruits, grapes, nuts) | 49,850 | \$ 5,877,000 |
| Total Farm Land in County (84.9% in farms) | 788,232 | \$15,707, 540 |
| Non-Agricultural Land in County | 139,768 | |
| Total Number Acres in County | 928,000 | (1935 U.S. Census) |

LIVESWOCK AND POULTRY

| | Estimated Value |
|---|-----------------|
| Dairying and Dairy Products | \$6,050,000 |
| Poultry and Eggs (chickens \$1,558,000, turkeys \$92,000) | 1,650,000 |
| Rabbits | 24,000 |
| Beef Cattle | 5,210,000 |
| Hogs | 260,000 |
| Sheep and Wool | 952,000 |
| Horses and Mules | 26,000 |
| Honey | 29,800 |
| | \$11,201,800 |

SUMMARY

| <u>Grop</u> | Acreage | Estimated Value |
|------------------------------|---------|----------------------|
| Truck Crops / | , 9,826 | \$ 1,995,400 |
| Fruits, Grapes and Nuts | 40,024 | 5,877,000 |
| Field Crops and Pasture | 738,382 | 9,830,540 |
| Livestock and Poultry | | 11,201,800 |
| Grand Total | 788,232 | \$28,904,740 |
| Total area in farms (acres) | 788,23 | 2 (1935 U.S. Census) |
| Total area in county (acres) | 928,00 | 0 (1935 U.S. Census) |
| | | in farms) |

Stanislaus County ACREAGE AND ESTIMATED VALUE OF CROPS, LIVESTOCK AND LIVESTOCK PROJUCTS for the year 1938

Compiled and prepared by the Agricultural Extension Service from data obtained from the 1938 Agricultural Conservation work sheets, State Crop Reporting Service, Irrigation Districts, various Cooperatives in the county, and other available sources.

October 10, 1938

TRUCK CROPS

| | Crop | Producing Acreage | Estimated Value |
|-------|---|----------------------|--------------------|
| | Cantaloupes | 913 | \$ 82,000 |
| | Honey Dews, Persians, Casabas | 1,462 | 116,860 |
| • | Watermelons | 1,072 | 86,000 |
| A. | Sweet Potatoes | 2,159 | 193,720 |
| | Tomatoes | 1,205 | 103,000 |
| | Other Garden Truck (peas, lettuce, spinach, onions, sweet corn, etc.) | 4,416 | 883,200 |
| | | 11,227 | \$1,464,780 |
| | FRUITS, GRAPES AND 1 | NUTS | |
| | Almonds | 4,1.20 | \$ 234,350 |
| 3 | Apricots | 5,195 | 201,000 |
| | Pesches (clingstone) | 6,270 | 996,310 |
| | Peaches (freestone) | 3,175 | 378,000 |
| | Figs | 852 | 79,500 |
| | Grapes (raisin) | 5,325 | 398,450 |
| | Grapes (table) | 1,396 | 105,400 |
| | Grapes (wine) | 9,786 | 644,600 |
| | Walnuts | 3,184 | 296,000 |
| I | All other Fruits (berries, etc.) | 1,156 | 172,000 |
| ***** | | 40,459 | \$3,505,610 |

FIELD CROPS AND PASTURE

| A | oducing creage | Estimated Value |
|---|-------------------|---------------------|
| Crop | 69,938 | \$2,951,000 |
| Alfalfa | 18,632 | 252,000 |
| Grain Hay | 669 | 18,090 |
| ~Cotton | 37,983 | 1,586,000 |
| Beans | 3,264 | 126,000 |
| Rice | 96,432 | 1,103,600 |
| Grains | 216 | 7,200 |
| Flax | 473 | 36,060 |
| ✓ Sugar Beets | | 147,000 |
| Grain Sorghum, Corn, and Seeds | 6,098 | |
| Silage Corn | 3,627 | 154,500 |
| Ladino Clover (pasture) | 32,573 | 1,092,000 |
| Sudan Grass (pasture) | 7,939 | 113,600 |
| Sub-Total | 277,844 | \$7,587,050 |
| Native Pastures | 258,933 | 384,250 |
| Fallow, Idle Land, Non-bearing Fruits and Nuts | 199,769 | |
| Sub-total Planted Acreage (field crops and pasture) | 736,546 | \$7,971,3 00 |
| Sub-total Producing Acreage (truck crops, fruits, grapes, nuts) | 51,686 | \$4,970,390 |
| Total Farm Land in County (84.9% in farms) | , 788,232 | \$12,941,690 |
| Non-Agricultural Land in County | 139,768 | |
| Total Number Acres in County | . 928,000 | (1935 U.S. Census) |

LIVESTOCK AND POULTRY

| | | Estimated Value |
|-----------|--|-----------------|
| 1 | Dairying and Dairy Products | \$6,035,000 |
| | | 2,132,000 |
| | Poultry and Eggs (chickens \$1,750,000; turkeys \$382,000) | |
| | Rabbits | 19,500 |
| | RECOLUS | 2,207,000 |
| | Beef Cattle | · |
| | Hogs | 209,000 |
| | nogs | 1,095,000 |
| | Sheep and Wool | • |
| | Horses and Mules | 26,300 |
| | HOLDER WITCH | 27,600 |
| | Honey | |
| | | #13 #53 400 |
| \$ | | \$11,751,400 |
| W. | | |

SUMMARY

| | Crop | Acreage | Estimated Value |
|---|------------------------------|---------------------|--------------------|
| | Truck Crops | 11,227 | \$ 1,464,780 |
| | Fruits, Grapes and Nuts | 40,459 | 3,505,610 |
| | Field Crops and Pasture | 736,546 | 7,971,300 |
| 2 | Livestock and Poultry | | 11,751,400 |
| | Grand Total | 788,232 | \$24,693,090 |
| | Total area in farms (acres) | 788,232 | (1935 U.S. Census) |
| | Total area in county (acres) | 928,000 (84.9% i | |

Stanislaus County

ACREAGE AND ESTIMATED VALUE OF CROPS, LIVESTOCK AND LIVESTOCK PRODUCTS

for the year 1939

Compiled and prepared by the Agricultural Extension Service from data obtained from

the 1939 Agricultural Conservation work sheets, State Crop Reporting Service, Irrigation Districts, various Cooperatives in the county, and other available sources

November 1, 1939

TRUCK CROPS

| | - | |
|--|------------------------------|-----------------|
| | Producing A <u>creage</u> | Estimated Value |
| Crop | 1,297 | \$ 96,000 |
| Cantaloupes | · | 126,800 |
| Honey Dews, Persians, Casabas | 1,479 | |
| Watermelons | 1,123 | 97,000 |
| Sweet Potatoes | 2,096 | 263,400 |
| Tomatoes | 1,986 | 152,900 |
| Peas - Canning and Fresh 3,624 Lettuce, Spinach, Onions,) 1,829 Sweet Corn, Melon Seeds, etc. 7 1,829 | 5 ,45 3 | 990,600 |
| | 15,434 | \$ 1,726,700 |
| FRUITS, GRAPES | and nuts | |
| Almonds | 4,320 | \$ 288,400 |
| Apricots | 5,195 | 501,000 |
| Peaches (clingstone) | 6,570 | 1,204,000 |
| Peaches (freestone) | 3,375 | 402,000 |
| | 852 | 86,000 |
| Figs | 5,691 | 327,000 |
| Grapes (raisin) | 1,396 | 116,500 |
| Grapes (table) | | 645,000 |
| Grapes (wine) | 9,986 | |
| Wallnuts | 3,194 | 302,200 |
| All other Fruits (berries, etc.) | 1,156 | 181,000 |
| | 41,735 | · \$ 4,053,100 |

FIELD CROPS AND PASTURE

| Crop | Producing Acreage | Estimated <u>Value</u> |
|---|----------------------|------------------------|
| Alfalfa | 85,292 | \$ 3,412,000 |
| Grain Hay | 20,083 | 276,000 |
| Cotton | 456 | 11,500 |
| Beans | 45,179 | 2,246,000 |
| Rice | 3,392 | 169,600 |
| (Wheat 13,738 Grains (Barley 79,605 (Oats 6,203 | 99,546 | 950,000 |
| Flax | 630 | 15,300 |
| Sugar Beets | 70 | 5,400 |
| Peanuts | 950 | 42,000 |
| Grain, Sorghum, Corn, and Seeds | 7,426 | 200,500 |
| Silage Com | 6,021 | 322,000 |
| Ladino Clover (pasture) | 35,082 | 702,600 |
| Suden Grass (pasture) | 8,631 | 102,000 |
| Sub-Total | 312,738 | \$ 8,454,900 |
| Native Pastures | 256,772 | |
| Fallow, Idle Land, Non-bearing Fruits and Nuts | 163,553 | |
| Sub-Total Planted Acreage (field crops and pasture) | 733,063 | |
| Sub-Total Producing Acreage (truck crops, fruits, grapes, nuts) | 55,169 | |
| Total Farm Land in County (84.9% in farms) | 788,232 | |
| Non-Agricultural Land in County | 139,768 | |
| Total Number Acres in County | 928,000 | (1935 U.S. Census) |

LIVESTOCK AND POULTRY

| | | | | | Estimated <u>Value</u> |
|-------------------------------|------------|---------|------------|--|------------------------|
| Dairying and Dairy Products | | | | | \$ 6,015,000 |
| Poultry and Eggs (chickens \$ | 1,925,000; | turkeys | \$731,250) | | 2,456,250 |
| Rabbits | · • | | | | 19,100 |
| Beef Cattle | | | | | 2,267,000 |
| Hogs | | | | | 199,000 |
| Sheep and Wool | | | | | 1,170,000 |
| Horses and Mules | | | | | 25,900 |
| Honey | | | | | 26,800 |
| | | | | | \$ 12,179,050 |

SUMMARY

| Crop | Acreage | Estimated <u>Value</u> |
|------------------------------|----------------|---------------------------|
| Truck Crops | 13,434 | \$ 1,726,700 |
| Fruit, Grapes and Nuts | 41,735 | 4,053,100 |
| Field Crops and Pasture | 733,063 | 8,454,900 |
| Livestock and Poultry | | 12,179,050 |
| Grand Total | 788,232 | \$ 26,413,750 |
| | | |
| Total area in farms (acres) | 788,232 (1935 | U.S. Census) |
| Total erea in county (acres) | 928,000 (1935 | U.S. Census) |
| | (84.9% in farm | ıs) |

Caly:

ACREAGE AND ESTIMATED VALUE OF CROPS, LIVESTOCK AND LIVESTOCK PRODUCTS for the year 1940

Compiled and prepared by the Agricultural Extension Service in cooperation with the Agricultural Commissioner from data obtained from 1940 Agricultural Conservation work sheets,
State Crop Reporting Service,
Irrigation Districts, various Cooperatives in the County,
Packing Houses, and other available sources.

November 8, 1940

SUMMARY

| <u>Crop</u> <u>Acreage</u> <u>F</u> | Estimated Value |
|--|-----------------|
| Truck Crops 14,279 | \$ 1,324,290 |
| Fruit, Grapes and Nuts 45,121 | 4,611,060 |
| Field Crops and Pasture 322,472 | 8,176,310 |
| Livestock and Poultry | 11,748,890 |
| Grand Total 381,872 | \$25,860,550 |
| | |
| Sub-Total Producing Acreage | 381,872 |
| Fallow, Idle Land and Non-Bearing Fruits and Nuts | |
| Native Pastures | 256,772 |
| Total Farm Land in County (84.9% in farms) | 788,232 |
| Non-Agricultural Land in County | 139,768 |
| Total Number Acres in County (1935 U.S. Agricultural Census) | |

TRUCK CROPS

| Crop | Average Yield | Average <u>Price</u> | Unit | Acreage | Estimated Value |
|--|-------------------------------|-------------------------|-------|---------|--------------------|
| Cantaloupes | 250 crates | \$. 60 | Crate | 899 | \$ 134,850 |
| Honey Dews, Casabas, etc. | 15 tons | 9.00 | Ton | 680 | 91,800 |
| Watermelons | 12 tons | 8.00 | Ton | 941 | 90,340 |
| Sweet Potatoes (60#) | 110 crates | .02 | Pound | 2,136 | 281,950 |
| Tomatoes | 9 tons | 11.00 | Ton | 837 | 82,860 |
| Spinach | 2 tons | 11.00 | Ton | 1,024 | 22,530 |
| Peas, Canning | $\mathbf{l}_{i_{+}}^{1}$ tons | 35.00 | Ton | 1,897 | 82,990 |
| Peas, Shipping | $1\frac{1}{2}$ tons | 45.00 | Ton | 2,104 | 142,020 |
| welon and Other Truck Crop Seeds | | 60.00 | Acre | 1,880 | 112,800 |
| Other Truck Garden Cro Lettuce, Squash, Celery, Sweet Corn Carrots, Onions, et (Land Double Cropped) | | 150.00 | | 1,881 | 282,150 |
| | | | | 14,279 | \$1,324,290 |

FRUIT, GRAPES AND NUTS

| Crop | Average Yield Per Acre | Average Price | Unit | Bearing Acreage | Estimated Value |
|---------------------------------------|------------------------|------------------|-------|--------------------|-----------------|
| Almonds | 300 lbs. | \$.15 | Pound | 5,132 | \$ 230,940 |
| Apricots | 1.22 tons | 55.00 | Ton | 5,461 | 366,430 |
| Peaches (Clingstone) | 9.2 tons | 19.00 | Ton | 8,310 | 1,452,590 |
| Peaches (Freestone) | 9.5 tons | 11.00 | Ton | 3,652 | 381,630 |
| Figs | 2.5 tons | 40.00 | Ton | 905 | 90,500 |
| Grapes (Raisin) | 7.0 tons | 11.50 | Ton | 7,012 | 564,470 |
| Grapes (Table) | 8.0 tons | 12.50 | Ton | 1,319 | 131,900 |
| Grapes (Wine) | 5.5 tons | 13.50 | Ton | 10,200 | 757,350 |
| Walnuts | 1,100 lbs. | .10 | Pound | 3,130 | 344,300 |
| All Other Fruits, Nuts and Berries | | 230.00 | Acre | 1,265 | 290,950 |
| | | | | 45,121 | \$4,611,060 |

FIELD CROPS AND PASTURE

| Crop | Average <u>Yield</u> | Average Price | Unit | Acreage | Estimated Value |
|-----------------------|-------------------------|------------------|-------|---------|-----------------|
| Alfalfa | $5\frac{1}{2}$ tons | \$ 6.00 | Ton | 81,453 | \$2,687,950 |
| Grain Hay | $1^{\frac{1}{2}}$ tons | 6.00 | Ton | 26,077 | 234,690 |
| Cotton | 350 lbs. | •09 | Pound | 299 | 9,420 |
| Beans, all varieties | 18 sks. | 2.80 | Cwt. | 49,810 | 2,510,420 |
| Rice | 35 sks. | 1.25 | Cwt. | 3,374 | 147,610 |
| Wheat (140-lb. sack) | 8 sks. | 1.40 | Cwt. | 10,735 | 168,320 |
| Barley (100-1b. sack) | 14 sks. | .80 | Cwt. | 78,807 | 882,640 |
| Oats (100-1b. sack) | 12 sks. | 1.25 | Cwt. | 6,309 | 94,630 |
| Sugar Beets | $12\frac{1}{2}$ tons | 7.00 | Ton | 209 | 18,290 |
| Peanuts | 1500 lbs. | 56.00 | Ton | 750 | 28,130 |
| Grain Sorghum | 2,000 lbs. | 30.00 | Ton | 4,551 | 136,530 |
| Corn and Seeds | | 35.00 | Acre | 1,640 | 57,400 |
| Bird Seeds | 1,500 lbs. | .02 | Pound | 755 | 22,650 |
| Silage Corn | 10 tons | 3.50 | Ton | 5,682 | 198,870 |
| Ladino Clover Pasture | | 20.00 | Acre | 45,858 | 917,160 |
| Sudan Grass Pasture | | 10.00 | Acre | 6,163 | 61,600 |
| | | | | 322,472 | \$8,176,310 |

LIVESTOCK AND POULTRY

| Kind | | | Estimated Value |
|------------------|--|---|--|
| ILLIIU | | | |
| Turkeys | 300,000 @ \$2.17 each | | \$ 651,000 |
| Poultry - Eggs | 4,700,000 doz. @ 17¢ | \$ 799,000) | 2 000 400 |
| - Meat | 658,181 birds @ 4 lbs. = 2,632,724 lbs. @ 18¢ | 473,890) | 1,272,890 |
| | | | |
| Rabbits | 20,000 @ 40¢ each | | 8,000 |
| Beef Cattle | 56,700 head | | 2,271,000 |
| Hogs | 15,000 @ \$15 each | | 225,000 |
| Dairy | Butter - 14,500,000 lbs. @ 30¢ | 4,350,000 | 5,700,000 |
| | Meat and Breeding Stock | 1,350,000 | 5,700,000 |
| | | | |
| Sheep | Lambs - 50,000 @ \$7.25 Fed Lambs - 300,000 (15 lbs. each wool - 3,360,000 lbs. @ 25¢ | 362,500) @ 8¢) 360,000) 840,000) | 1,562,500 |
| • | | • | |
| Horses and Mules | 10,125 @ \$40 each | | 40,500 |
| Honey | 12,000 Hives (40 lbs. each @ 3-3/ | (4¢) | 18,000 |
| | | | ************************************** |

\$11,748,890

caly- Stanislans C.

Stanislaus County ACREAGE AND ESTIMATED VALUE OF CROPS, LIVESTOCK AND LIVESTOCK PRODUCTS for the year 1941

Compiled and prepared by the Agricultural Extension Service in cooperation with the Agricultural Commissioner from data obtained from 1941 Agricultural Conservation work sheets,

State Crop Reporting Service,
Irrigation Districts, various Cooperatives in the County,
Canneries, Packing Houses, and other available sources.

November 6, 1941

SUMMARY

| <u>Crop</u> | Acreage | Estimated Value |
|---|---------|-----------------|
| Truck Crops | 11,820 | \$ 1,006,941 |
| Fruit, Grapes and Nuts | | 9,359,022 |
| Field Crops and Cultivated Pasture | | 10,070,449 |
| Livestock and Poultry | | 15,171,267 |
| Total | | \$35,607,679 |
| Native Pastures | | 345,965 |
| Grand Total | | \$35,953,644 |
| 000 | | |
| Total Producing Acreage | | 626,580 |
| Fallow, Idle Land and Non-Bearing Fruits an | | |
| Total Land in Farms (84.9%) | | |
| Non-Agricultural Land | | |
| Total Number Acres in County | | |

TRUCK CROPS

| Crop | Average <u>Yield</u> | Average <u>Price</u> | <u>Unit</u> | Acreage | Estimated <u>Value</u> |
|--|-------------------------|-------------------------|-------------|---------|---------------------------|
| Cantaloupes | 210 crates | \$.60 | Crate | 803 | \$ 101,178 |
| Honey News, Casabas, etc. | 12 tons | 7.00 | Ton | 1,227 | 103,068 |
| Watermelons | 12 tons | 7.00 | Ton | 781 | 65,604 |
| Sweet Potatoes (50#) | 105 Baskets | .021/4 | Pound | 1,930 | 227,981 |
| Tomatoes | 7 tons | 13.25 | Ton | 1,191 | 110,465 |
| Spinach | 2 tons | 16.00 | Ton | 1,350 | 43,200 |
| Peas, Canning | $1\frac{1}{4}$ tons | 37.50 | Ton | 1,300 | 60,935 |
| Peas, Shipping | l½ tons | 50.00 | Ton | 210 | 15,750 |
| Melon and Other Truck Crop Seeds | | 48.00 | Acre | 1,720 | 82,560 |
| Other Truck Garden Crop Lettuce, Squash, Celery, Sweet Corn, | | | | | |
| Carrots, Onions, etc (Land Double Cropped) | 3 • | 150.00 | Acre | 1,308 | 196,200 |
| | | | | 11,820 | \$1,006,941 |

FRUIT, GRAPES AND NUTS

| Crop | Average Yield <u>Per Acre</u> | Average <u>Price</u> | <u>Unit</u> | Bearing Acreage | Estimated <u>Value</u> |
|--|----------------------------------|-------------------------|-------------|--------------------|---------------------------|
| Almonds | 300 lbs. | \$.26 | Pound | 5,182 | \$ 404,196 |
| Apricots 18,025 Tons | 3.32 tons | 35.64 | Ton | 5,431 | 642,596 |
| Peaches (Clingstone) 90,750 tons 11% No. 2 | 10.42 tons | 47,26 | Ton | 8,710 | 4,289,240 |
| Peaches (Freestone) 41,500 Tons | 11.07 tons | 26.00 | Ton | 3,750 | 1,079,325 |
| Figs | 2.5 tons | 55.00 | Ton | 905 | 124,437 |
| Grapes (Raisin) | 7.5 tons | 17.50 | Ton | 7,115 | 933,844 |
| Grapes (Table) | 7.0 tons | 28.00 | Ton | 1,320 | 258,720 |
| Grapes (Wine) | 5.0 tons | 19.00 | Ton | 10,300 | 978,500 |
| Walnuts | 1,188 lbs. | .11 | Pound | 3,330 | 435,164 |
| Nursery Stock | • | 300,00 | Acre | 30 | 9,000 |
| All Other Fruits, Nuts and Berries | | 160.00 | Acre | 1,275 | 204,000 |
| | | | | 47,348 | \$9,359,022 |

FIELD CROPS AND CULTIVATED PASTURE

| Crop | Average <u>Yield</u> | Average <u>Price</u> | <u>Unit</u> | <u>Acreage</u> | Estimated <u>Value</u> |
|---------------------------------------|-------------------------|-------------------------|-------------|----------------|---------------------------|
| Alfalfa | 5 tons | \$10.00 | Ton | 77,470 | \$ 3,873,500 |
| Grain Hay | $1\frac{1}{2}$ tons | 7.00 | Ton | 19,184 | 201,432 |
| Cotton | 350 lbs. | .15 | Pound | 386 | 20,265 |
| Beans, all varieties (100 lb. sack) | 15 sks. | 4.25 | Cwt. | 47,802 | 3,047,377 |
| Rice (100 lb. sack) | 33 sks. | 2.00 | Cwt. | 2,237 | 147,642 |
| Wheat (140 lb. sack) | 6 sks. | 1.60 | Cwt. | 10,797 | 145,112 |
| Barley (110 lb. sack) | 12 sks. | 1.25 | Cwt. | 59,456 | 981,024 |
| Oats (100 lb. sack) | 1.2 sks. | 1.35 | Cwt. | 5,160 | 83,592 |
| Sugar Beets | 13 tons | 8.00 | Ton | 50 | 5,200 |
| Peanuts | 1500 lbs. | 70.00 | Ton | 254 | 13,335 |
| Grain Sorghums | 2000 lbs. | 45.00 | Ton | 2,757 | 124,065 |
| Corn and Other Miscellaneous Seeds | | 45.00 | Acre | 1,660 | 74,700 |
| Bird Seeds | 1500 lbs. | .03 | Pound | 85 | 3,825 |
| Silage Corn | 10 tons | 5.00 | Ton | 4,820 | 241,000 |
| Ladino Clover Pasture | | 20.00 | Acre | 52,316 | 1,046,320 |
| Sudan Grass Pasture | | 10.00 | Acre | 6,206 | 62,060 |
| | | | | 290,640 | \$10,070,449 |

LIVESTOCK AND POULTRY

| <u>Kind</u> | | | Estimated <u>Value</u> |
|-------------------|---|-----------------------------|---------------------------|
| Turkeys | 263,468 @ \$2.87 each | | \$ 776,153 |
| Poultry - Eggs | 4,550,535 doz. @ 27¢ | \$1,228,644) | |
| - Meat | 477,009 lbs. @ 22¢ | 104,942) | 1,424,164 |
| - Hens | 215,663 @ 3½# @ 12¢ | 90,578) | |
| Rabbits - Fryers | 25,000 @ 55¢ each | 13,750) 875) | 14,625 |
| - Skins a | nd Breeding Stock | 875) | 14,000 |
| Beef Cattle | 40,000 @ \$40 per head | 1,600,000) 225,000) | 1 825 000 |
| | 15,000 fed | 225,000) | 1,02),000 |
| Hogs | 8,733 @ \$20 | • | 174,660 |
| Dairy - Butterfat | 16,961,072 lbs. @ 48¢ | .8,141,314) 1,850,000) | 9.991.31/ |
| - Meat and | Breeding Stock | 1,850,000) | 7,772,524 |
| Sheep - Lambs | 28,376 @\$8.25 | 234,102) | |
| - Ewes | 24,808 @ \$7.00 | 173,656) | |
| - Fed Lambs | 200,000 @ 15 lbs. @ \$9.25 per cwt. | 277,500) | 910,101 |
| | 223,272 lbs. @ 38¢ per lb. | 84,843) | |
| - Wool (Lan | ab 400,000 lbs. @ 35¢ per lb. | 140,000) | |
| Horses and Mules | 427 (sold) | | 37,400 |
| Honey | 12,000 hives - 35 lbs. each @ $4\frac{1}{4}$ ¢ per 1b | • | 17,850 |
| | | | \$15,171,267 |

c. Stunislans Co.

Stanislaus County ACREAGE AND ESTIMATED VALUE OF CROPS, LIVESTOCK AND LIVESTOCK PRODUCTS for the year 1942

Compiled and prepared by the Agricultural Extension Service in cooperation with the Agricultural Commissioner from data obtained from 1942 Agricultural Conservation work sheets,
State Crop Reporting Service,
Irrigation Districts, various Cooperatives in the County,
Canneries, Packing Houses, and other available sources.

November 18, 1942

SUMMARY

| Crop | Acreage | Estimated Value |
|--|---|-----------------|
| Truck Crops | 14,130 | \$ 1,880,608 |
| Fruit, Grapes and Nuts | 48,340 | 11,859,818 |
| Field Crops and Cultivated Pasture | 300,405 | 12,558,619 |
| Livestock and Poultry | and him. | 18,360,235 |
| Total | 362,875 | \$44,659,280 |
| Native Pastures | 243,504 | 243,504 |
| Grand Total | 606,379 | \$44,902,784 |
| 000 | | |
| Total Producing Acreage | | 606,379 |
| Fallow, Idle Land and Non-Bearing Fruits and Nut | s | 83,082 |
| Total Land in Farms (71.5%) (1940 U. S. Census) | | 689,461 |
| Non-Agricultural Lands(1940 U. S. Census) | ••••• | 274,379 |
| Total Number Acres in County | • | . 963,840 |

TRUCK CROPS

| Crop | Average <u>Yield</u> | Average <u>Price</u> | <u>Unit</u> | Acreage | Estimated <u>Value</u> |
|---|-------------------------|-------------------------|-------------|---------|------------------------|
| Cantaloupes | 200 crates | \$ 1.65 | Crate | 756 | \$ 249,480 |
| Honey Dews, Casabas, etc. | 12 tons | 17.00 | Ton | 685 | 139,740 |
| Watermelons | 12 tons | 25.00 | Ton | 638 | 191,400 |
| Sweet Potatoes (50#) | 80 baskets | .04 | Pound | 1,700 | 272,000 |
| Tomatoes | 6 tons | 18.50 | Ton | 2,986 | 331,446 |
| Spinach | 4 tons | 16.00 | Ton | 1,350 | 86,400 |
| Peas, Canning | 1 ton | 55.00 | Ton | 1,540 | 84,700 |
| Melons and Other Truck Crop Seeds | | 98.00 | Acre | 2,804 | 274,792 |
| Other Truck Garden Cro Lettuce, Squash, Celery, Sweet Corn, | | | | | |
| Carrots, Onions, et (Land Double Cropped) | Se. | 150.00 | Acre | 1,671 | 250,650 |
| | | | | 14,130 | \$1,880,608 |

FRUIT, GRAPES AND NUTS

| Crop | Average Yield Per Acre | Average <u>Price</u> | <u>Unit</u> | Bearing Acreage | Estimated <u>Value</u> |
|---|---------------------------|-------------------------|-------------|--------------------|--------------------------------------|
| Almonds | 520 lbs. | \$.21 | Pound | 5,705 | \$ 622,986 |
| Apricots 13,810 Tons | 2.54 tons | 53.00 | Ton | 5,431 | 731,930 |
| Peaches (Clingstone) 98,510 tons #1's 18,544 tons #2's16% | 12.83 tons | 57.50 8.00 | Ton Ton | 9,125 | (5,664,325 (148,352 5,812,677 |
| Peaches (Freestone) 42,730 Tons | 10.77 tons | 36.00 | Ton | 3,968 | 1,538,280 |
| Figs | 2.25 tons | 75.00 | Ton | 450 | 75,937 |
| Grapes (Raisin) | 5.0 tons | 24.00 | Ton | 7,115 | 853,800 |
| Grapes (Table) | 7.0 tons | 32.00 | Ton | 1,323 | 296,352 |
| Grapes (Wine) | 4.0 tons | 28.50 | Ton | 10,538 | 1,201,332 |
| Walnuts | 1,270 lbs. | .11½ | Pound | 3,380 | 493,649 |
| Nursery Stock | | 325,00 | £: 7 9 | 30 | 9,750 |
| All Other Fruits, Nuts and Berries | • . | 175.00 | Acre | 1,275 | 223,125 |
| | | | | 48,340 | \$11,859,818 |

FIELD CROPS AND CULTIVATED PASTURE

| Crop | Average <u>Yield</u> | Average <u>Price</u> | <u>Unit</u> | Acrea g e | Estimated <u>Value</u> |
|---------------------------------------|-------------------------|-------------------------|-------------|------------------|---------------------------|
| Alfalfa | 4.5 tons | \$ 16.00 | Ton | 75,227 | \$ 5,416,344 |
| Grain Hay | 1.5 tons | 11.00 | Ton | 18,193 | 300,184 |
| Cotton | 340 lbs. | .19 | Pound | 317 | 20,478 |
| Beans, all varieties (100 lb. sack) | 12 sks. | 5.10 | Cwt. | 50,405 | 3,084,786 |
| Rice (100 lb. sack) | 35 sks. | 2.90 | Cwt. | 2,251 | 228,476 |
| Wheat (140 lb. sack) | 6 sks. | 1.60 | Cwt. | 10,195 | 137,020 |
| Barley (110 lb. sack) | 12 sks. | 1.40 | Cwt. | 54,503 | 1,007,215 |
| Oats (100 lb. sack) | 14 sks. | 1.60 | Cwt. | 10,150 | 227,360 |
| Sugar Beets | 12 tons | 8.00 | Ton | 333 | 31,968 |
| Peanuts | 1200 lbs. | 107.00 | Ton | 275 | 17,655 |
| Grain Sorghums | 2000 lbs. | 45.00 | Ton | 1,208 | 54,360 |
| Corn and Other Miscellaneous Seeds | | 45.00 | Acre | 1,207 | 54,513 |
| Bird Seeds | 1200 lbs. | .03½ | Pound | 150 | 6,300 |
| Silage Corn | 10 tons | 8.00 | Ton | 6,370 | 509,600 |
| Ladino Clover Pasture | | 22.50 | Acre | 60,945 | 1,371,262 |
| Sudan Grass Pasture | | 10.50 | Acre | 8,676 | 91,098 |
| | | | | 300,405 | \$12,558,619 |

LIVESTOCK AND POULTRY

| <u>Kind</u> | | Estimated <u>Value</u> |
|--|--------------|---------------------------|
| Turkeys 237,122 @ \$3.87 each | | \$ 917,662 |
| Poultry - Eggs 5,653,400 doz. @ 34¢ | \$1,922,156) | |
| - Meat 524,700 lbs. @ 22¢ | 115,434) | 2,176,393 |
| - Hens 220,323 lbs. @ $3\frac{1}{2}$ # @ 18¢ | 138,803) | |
| Rabbits - Fryers 25,000 @ 60¢ each | 15,000) | 15,950 |
| - Skins and Breeding Stock | 950) | ±2,772 |
| Beef Cattle 40,000 @ \$48 per head | 1,920,000) | 2,250,000 |
| 16,500 fed | 330,000) | 2,2,0,000 |
| Hogs 10,480 @ \$28 | | 293,440 |
| Dairy - Butterfat 16,721,851 lbs. @ 58¢ | 9,698,673) | 11,733,673 |
| - Meat and Breeding Stock | 2,035,000) | |
| Sheep - Lambs 28,376 @ \$9.75 | 276,666) | |
| - Ewes 24,808 @ \$7.50 | 186,060) | |
| - Fed Lambs 150,000 @ 15 lbs. @ \$10.50 per cwt. | 236,250) | 904,517 |
| (Ewe 223,272 lbs. @ 41¢ per lb. | 91,541) | |
| - Wool (Lamb 300,000 lbs. @ 38¢ per lb. | 114,000) | |
| Horses and Mules 400 (sold) | | 35,000 |
| Honey 12,000 hives - 35 lbs. each @ 8¢ pe | er lb. | 33,600 |
| | | \$18.360,235 |

UNIVERSITY OF DAVIS, CA

Stanislaus County ACREAGE AND ESTIMATED VALUE OF CROPS, LIVESTOCK, AND LIVESTOCK PRODUCTS

for the year 1943

1045 - WAA 1148

Compiled and prepared by the Agricultural Extension Service in cooperation with the Agricultural Commissioner from data obtained from 1943 Agricultural Conservation work sheets,
State Crop Reporting Service,
Irrigation Districts, various Cooperatives in the County,
Canneries, Packing Houses, and other available sources.

November 10, 1943

SUMMARY

| Crop | <u>Acreage</u> | Estimated Value |
|---|----------------|-----------------|
| Truck Crops | . 16,085 | \$ 3,198,395 |
| Fruit, Grapes and Nuts | . 49,367 | 17,873,558 |
| Field Crops and Cultivated Pasture | . 306,480 | 20,121,336 |
| Livestock and Poultry | | 27,279,983 |
| Total | 371,932 | \$68,473,272 |
| Native Pastures | 243,504 | 243,504 |
| Grand Total | 615,436 | \$68,716,776 |
| 000 | | |
| Total Producing Acreage | | 615,436 |
| Fallow, Idle Land and Non-Bearing Fruits and Nu | | |
| Total Land in Farms (71.5%) (1940 U.S. Census) | ••••• | 689,461 |
| Non-Agricultural Lands(1940 U.S. Census) | | 274,379 |
| Total Number of Acres in County | | 963,840 |

Note:

Even though the farmers' gross income for Stanislaus County for 1943 is the largest in its history, in many cases his net income may be very little more than it was during 1942, due to higher labor, feed, and material costs that he was obliged to pay.

1943 TRUCK CROPS

| <u>Crop</u> | Average Yield 250 crates | Average Price \$ 3,00 | <u>Unit</u> Crate | Acreage 564 | Estimated Value \$ 423,000 |
|--|--------------------------|-----------------------|----------------------|----------------|-----------------------------|
| Cantaloupes | 250 craves | φ 3,00 | 01000 | | |
| Honey Dews, Casabas, etc. | 12 tons | 50.00 | Ton | 322 | 193,200 |
| Watermelons | 12 tons | 40.00 | Ton | 624 | 299,520 |
| Sweet Potatoes (50#) | 95 baskets | \$0\$ | Pound | 985 | 374,300 |
| Tomatoes | 9 tons | 26.50 | Ton | 2490 | 593,865 |
| Spinach | 4 tons | 20.00 | Ton | 1460 | 116,800 |
| Peas, Canning | 1 ton | 65.00 | Ton | 3200 | 208,000 |
| Carrots | 15 tons | 20.00 | Ton | 540 | 162,000 |
| Cabbage | 18 tons | 20.00 | Ton | 530 | 190,800 |
| Melons and Other Truck Crop Seeds | | 71.00 | Acre | 3710 | 263,410 |
| Other Truck Garden) Crops: Lettuce, Squash Celery, Sweet O | Corn, | | | | |
| (Land Double Cropped) | | 225.00 | Acre | 1660 | 373,500 |
| | | | | 16,085 | \$3,198,395 |

1943

FRUIT, GRAPES AND NUTS

| | Crop | Average Yield Per Acre | Average <u>Price</u> | <u>Unit</u> | Bearing <u>Acreage</u> | Estimated <u>Value</u> |
|---|--|---------------------------|------------------------------------|-------------|---------------------------|---------------------------|
| | Almonds | 460 lbs. | \$.36 | Pound | 5,810 | \$ 962,136 |
| | Apricots 3500 Tons | .634 tons | 72.00 | Ton | 5,518 | 251,885 |
| | Peaches (Clingstone) 80,865 T. #1's @ \$65 <u>6,985</u> T. #2's @ \$30 89,850 T. total | 9.17 | (61.50) (weighted) (average) | Ton | 9,801 | 5,525,775 |
| | Peaches (Freestone) 9.47 6,250 T. canned @ \$50 5,450 T. shipped @ \$125 27.035 T. dried @ 22¢ lb. 38,735 Tons | | (70.82 (weighted (average | Ton | 4,091 | 2,743,190 |
| | Figs | 2.25 tons | 80.00 | Ton | 450 | 81,000 |
| | Grapes (Raisin) " (Canning) | 8 tons 10 tons | 35.00 48.75 | Ton Ton | 6,477) 650) | 2,127,635 |
| 3 | Grapes ('Table) | 8.0 tons | 72.00 | Ton | 1,323 | 762,048 |
| | Grapes (Wine) | 5.25 tons | 71.00 | Ton | 10,605 | 3,953,014 |
| | Walnuts | 1,350 lbs. | .25 | Pound | 3,646 | 1,230,525 |
| | Nursery Stock | | 500.00 | Acre | 20 | 10,000 |
| | All Other Fruits, Nuts and Berries | | 225.00 | Acre | 1,006 | 226,350 |
| | | | | | 49,367 | \$17,873,558 |

1943

| C.FT.FG | CROPS | - ND | CULTIVATED | PASTURE |
|---------|---------|-------|------------|---------|
| ribbu | OTTOM O | Titin | 002022 | |

| | Crop | Average <u>Yield</u> | Average <u>Price</u> | <u>Unit</u> | Acreage | Estimated <u>Value</u> |
|---|---------------------------------------|-------------------------|-------------------------|-------------|---------|---------------------------|
| | Alfalfa | 5.5 tons | \$ 20.00 | Ton | 77,771 | \$ 8,554,810 |
| | Grain Hay | 1.5 tons | 16.00 | Ton | 19,350 | 464,400 |
| | Cotton | 350 lbs. | .21 | Pound | 39 | 2,866 |
| | Beans, all varieties (100 lb. sack) | 16.5 sks. | 6.80 | Cwt. | 48,144 | 5,401,757 |
| _ | Rice (100 lb. sack) | 41 sks. | 3.25 | Cwt. | 2,474 | 329,660 |
| | Wheat (140 lb. sack) | 6.25 sks. | 2.30 | Cwt. | 10,850 | 218,355 |
| | Barley (110 lb. sack) | 14 sks. | 2.10 | Cwt. | 58,650 | 1,896,741 |
| | Oats (100 lb. sack) | 15 sks. | 2.25 | Cwt. | 9,880 | 333,450 |
| | Sugar Beets | 12 Ton | 9.00 | Ton | 65 | 7,020 |
| | Peanuts | 1200 Lbs. | 121.00 | Ton | 265 | 19,239 |
| | Grain Sorghums | 2000 Lbs. | 53.00 | Ton | 2,326 | 123,278 |
| | Corn and other Miscellaneous Seeds | | 55.00 | Acre | 803 | 44,165 |
| | Silage Corn | 10 Tons | 8.00 | Ton | 5,206 | 416,480 |
| | Ladino Clover Pastur | re | 35.00 | Acre | 60,593 | 2,120,755 |
| | Sudan Grass Pasture | | 15.00 | Acre | 6,664 | 99,960 |
| | Guayule | Ave. Rental | 26.00 | Acre | 3,400 | 88,400 |
| | | | | | 306,480 | \$20,121,336 |

LIVESTOCK AND POULTRY

| | <u>Kind</u> | | | Estimated <u>Value</u> |
|---|------------------|---|----------------|---------------------------|
| | Turkeys - Meat | 850,000 @ \$6.03 each | \$5,125,500 | \$ |
| | v | 3,000,000 @ 27¢ each | 810,000 | 5,935,500 |
| | Poultry - Eggs | 5,653,400 doz. @ 44¢ | 2,487,496 | |
| | - Meat | 498,465 lbs. @ 28¢ | 139,570 | |
| | - Hens | 242,355 @ 3½# @ 23½¢ | 199,337 | 2,826,403 |
| 9 | Rabbits - Fryers | 33,750 @ 72¢ each | 24,300 | |
| | -"Skins | and Breeding Stock | 1,900 | 26,200 |
| | Beef Cattle | 40,000 @ \$52 per head | 2,080,000 | |
| | | 16,500 fed | 330,000 | 2,410,000 |
| | Swine | 13,100 @ \$28 | | 366,800 |
| | Dairy - Butterf | at 16,721,851 lbs. @ 75¢ | 12,541,388 | |
| • | | d Breeding Stock | 2,116,400 | 14,657,788 |
| | Sheep - Lambs | 28,375 @ \$10.15 | 288,006 | |
| | - Ewes | 24,808 @ \$7.00 | 173,656 | |
| | - Fed Lam | bs 135,000 @ 15 lbs. @ \$13.50 per cwt. | 273,375 | |
| | (€ | we 223,272 lbs. @ 44¢ per lb. | 98,240 | |
| | - Wool (| amb270,000 lbs. @ 42¢ per lb. | 113,400 | 946,677 |
| | Horses and Mule | es 400 (sold) | | 35,000 |
| | Honey | 12,000 hives - 50 lbs. each @ $12\frac{1}{2}$ ¢ r | per 1b. 75,000 | |
| | | 1,500 lbs. beeswax @ 41¢ per 1b. | 615 | 75,615 |
| | | | | \$27,279,983 |

Stanislaus County

ACREAGE AND ESTIMATED VALUE OF CROPS, LIVESTOCK, AND LIVESTOCK PRODUCTS for the year 1944

Compiled and prepared by the Agricultural Extension Service
in cooperation with the Agricultural Commissioner
from data obtained from
1944 Agricultural Conservation work sheets,
State Crop Reporting Service,
Irrigation Districts, various Cooperatives in the County,
Canneries, Packing Houses, and other available sources.

December 14, 1944

SUMMARY

| | Crop | Acreage E | stimated Value |
|----------|--|-----------|----------------|
| 3 | Truck Crops | 16,538 | \$ 2,876,131 |
| | Fruit, Grapes and Nuts | 50,287 | 22,534,261 |
| | Field Crops and Cultivated Pasture | 297,842 | 18,720,972 |
| | livestock and Poultry | _,_ | 35,719,788 |
| | Total | 364,667 | \$79,851,152 |
| | Native Pastures | 282,470 | 282,470 |
| | Grand Total | 647,137 | \$80,133,622 |
| | 000 | | |
| | Total Producing Acreage | 647,137 | |
| * | Fallow, Idle Land and Non-Bearing Fruits and Nuts | 42,324 | _ |
| • | Total Land in Farms (71.5%) | 689,461 | |
| | Non-Agricultural Lands | 274,379 | |
| | Total Number of Acres in County (1940 U.S. Census) | 963,840 | |

Note:

Even though the farmers' gross income for Stanislaus County for 1944 is the largest in its history, in most cases his net income will be greatly reduced because of high labor, feed, and material costs that he was obliged to pay.

Revenue may be duplicated in some instances where such crops as Ladino clover pasture, alfalfa, native pastures and some of the feed crops may be produced and consumed on the same farm and be reported under both Livestock and Field Crops.

1944 TRUCK CROPS

| | Crop | Average <u>Yield</u> | Average <u>Price</u> | <u>Unit</u> | Acreage | Estimated <u>Value</u> |
|----------|---|-------------------------|-------------------------|-------------|---------|------------------------|
| | Cantaloupes | 200 crates | \$ 2.65 | Crate | 405 | \$ 214,650 |
| | Honey Dews, Casabas, etc. | 12 tons | 36.00 | Ton | 1,129 | 487,728 |
| | Watermel ons | 12 tons | 18-00 | Ton | 1,494 | 322 , 704 |
| ₹ | Sweet Potatoes (50#) | 80 baskets | ,045 | Pound | 1,471 | 264,780 |
| _ | Tomatoes | 7 tons | 26,50 | Ton | 2,460 | 456,330 |
| | Spinach | 4 75 tons | 22.50 | Ton | 1,378 | 147,274 |
| | Peas, Canning | 1.25 ton | 72.00 | Ton | 3,426 | 308,340 |
| | Carrots | 15 tons | 20.00 | Ton | 116 | 34,800 |
| | Cabbage | seed | 200 00 | Acre | 110 | 22,000 |
| 3 | Melons and Other Truck Crop Seeds | | 80 00 | Acre | 2,800 | 224,000 |
| | Other Truck Garden Crops: Lettuce, Squash, Celery, Sweet Co | rn, | | | | ZOR ESE |
| | (Land Double Cropped) | | 225.00 | Acre | 1,749 | 393,525 |
| | | | | | 16,538 | \$2,876,131 |

1944

FRUIT, GRAPES AND NUTS

| Crop | | | ge Yield Acre | Average <u>Price</u> | <u>Unit</u> | Bearing Acreage | Estimated <u>Value</u> |
|---|--|-----------------|------------------|--------------------------------|-------------|--------------------|---------------------------|
| Almonds | | 310 | lbs. | \$.36 | Pound | 6,002 | \$ 669,823 |
| Apricots, Blen | nheims 6,775 tons <u>27,097</u> 33,872 ton | | tons | 81.56 (weighted (average | Ton | 5,388 | 2,762,775 |
| Peaches (Clin, 105,884 T. #1 11,764 T. #2 117,648 T. to | 's @ \$65 's @ \$30 | 11.52 | tons | 59.82 (weighted (average | Ton | 10,209 | 7,037,124* |
| 19 30 | | | | | | | |
| | nned @ \$41 ipped @ \$52 ied @ 22¢ lb. dri | 11.32 ed | tons | 46 80 (weighted (average | Ton · | 4,148 | 2,168,540 |
| 46,955 T. to | tal | • | | | | | |
| Figs | 4 A. | 1.75 | tons | 85.00 | Ton | 705 | 104,868 |
| Grapes (Raisin Grapes (Cannin | | 6 <u>원</u> 7 | tons | 45 00 55 00 | Ton Ton | 6,548 600 | 1,915,290 231,000 |
| Grapes (Table) | | 7 | tons | ` 85 ₀ 00 | Ton | 1,323 | 787,185 |
| Grapes (Wine) | | 5.5 | tons | 90 - 00 | Ton | 10,640 | 5,266,800 |
| Walnuts | | 1,426 | lbs. | . 26 | Pound | 3,719 | 1,378,856 |
| Nursery Stock | | | | 750.00 | Acre | 20 | 15,000 |
| All Other Frui Nuts and Berri | its, ies | | | 200.00 | Acre | 985 | 197,000 |
| | | | | | | 50,287 | \$22,534,261 |

^{*}Preliminary best estimate by representatives of cling peach industry December 8, 1944.

1944

| | FIELD CROPS A | · · · · · · · · · · · · · · · · · · · | | | |
|---------------------------------------|-------------------------|---------------------------------------|-------------|-------------|---------------------------|
| Crop | Average <u>Yield</u> | Average <u>Price</u> | <u>Unit</u> | Acreage | Estimated <u>Value</u> |
| Al fal fa | 6 tons | \$ 20.00 | Ton | 70,018 | \$ 8,402,160 |
| Alfalfa Seed | 175 lbs. | .30 | Pound | 300 | 15,750 |
| Grain Hay | 1.5 tons | 16.00 | Ton | 19,863 | 476,712 |
| Cotton | 350 lbs. | . 22 | Pound | 40 | 3,080 |
| Beans, all varieties '100 lb. sack) | 14.0 sacks | 6.80 | Cwt. | 46,047 | 4,383,674* |
| Rice /100 lb. sack) | 40 sacks | 3.25 | Cwt. | 2,898 | 376,740 |
| Freat (140 lb. sack) | 6.25 sacks | 2,30 | Cwt. | 3,550 | 71,444 |
| Barley (110 lb. sack) | 13 sacks | 1.80 | Cwt. | 64,000 | 1,647,360 |
| Oats (100 lb. sack) | 14 sacks | 2.25 | Cwt. | 13,200 | 415,800 |
| Flax '56 lb. per bu.) | 22 bu. | 3.20 | Cwt. | 45 | 1,774 |
| Peanuts | 1200 lbs. | 121.00 | Ton | 48 | 3,485 |
| Grain Sorghums | 1 ton | 47.00 | Ton | 809 | 38,023 |
| Corn and other Miscellaneous Seeds | | 55,00 | Acre | 98 6 | 54,230 |
| lage Corn | 10 tons | 8.00 | Ton | 4,801 | 384,080 |
| Iadino Clover Pasture | | 35.00 | Acre | 62,254 | 2,178,890 |
| Iadino Clover Seed | 125 lbs. | 1.65 | Pound | 500 | 103,125 |
| Sudan Grass Pasture | | 15.00 | Acre | 5,083 | 76,245 |
| .Guayul e | Ave. Rental | 26.00 | Acre | 3,400 | 88,400 |
| | | | | = | |

\$18,720,972

297,842

^{*}Bean income dropped from last year due to rain damage. Estimated loss is 175,000 bags. Iargest loss incurred is in blackeyes which show about 30% loss. Baby lima loss is about 10%

LIVESTOCK AND POULTRY

| Kind | | | Estimated <u>Value</u> |
|--------------------|--|--------------|---------------------------|
| Turkeys - Meat | 1,000,000 @ \$7.00 each | \$ 7,000,000 | |
| · Eggs | 5,000,000 @ 30¢ each | 1,500,000 | \$ 8,500,000 |
| Poultry - Eggs | 5,879,535 doz @ 40¢ | 2,351,814 | |
| . Meat | 332,310 lbs. @ 30¢ | 99,693 | |
| - Hens | 250,000 @ 3½# @ 25½¢ | 223,125 | 2,674,632 |
| Rabbits - Fryers | 35,440 @ 72¢ | 25,516 | |
| - Skins and | Breeding Stock | 1,990 | 27,506 |
| Beef Cattle | 40,000 @\$52 per head | 2,080,000 | |
| | 22,500 fed | 450,000 | 2,530,000 |
| Swine | 12,000 @ \$28 | | 356,000 |
| . miry - Butterfat | 18,450,000 lbs @ \$1 00 | 18,450,000 | |
| · Meat and | Breeding Stock | 2,328,000 | 20,778,000 |
| Sheep - Lambs | 26,000 @ \$10 20 | 265,200 | |
| - Ewes | 23,000 @ \$7.00 | 161,000 | |
| - Fed Iambs | 100,000 @ 15 lbs @ \$14 00 per cwt | 210,000 | |
| (ewe | 195,500 lbs. @ 45¢ per lb | 87,975 | |
| - Wool ' | 200,000 lbs. @ 40¢ per lb. | 80,000 | 804,175 |
| Harses and Mules | 400 (sold) | | 35,000 |
| Honey | 9,000 hives - 30 lbs. each @12¢ per | : lb. 32,400 | |
| , | 5,000 lbs. beeswax @ $41\frac{1}{2}$ ¢ per lb. | 2,075 | 34,475 |
| | | | \$35,719,788 |

Stanislaus County IMATED VALUE OF CROPS, LIVESTOCK, AND LIVESTOCK PRODUCTS for the year 1945

> Compiled and prepared by the Agricultural Extension Service in cooperation with the Agricultural Commissioner from data obtained from 1945 Agricultural Conservation work sheets, State Crop Reporting Service, Irrigation Districts, various Cooperatives in the County, Canneries, Packing Houses, and other available sources.

December 18

SUMMARY

| Crop | Acreage | Estimated Value |
|---|--------------|-----------------|
| Truck Crops | 14,386 | \$ 3,146,721 |
| Fruit, Grapes and Nuts | 51,232 | 19,047,059 |
| Field Crops and Cultivated Pasture | 297,519 | 18,116,277 |
| Livestock and Poultry | | 36,745,232 |
| Total | 363,187 | \$77,055,289 |
| Native Pastures | 283,950 | 283,950 |
| Grand Total | 647,137 | \$77,339,239 |
| 000 | | |
| Total Producing Acreage | 647 | ,137 |
| Fallow, Idle Land and Non-Bearing Fruits and Nu | ts <u>52</u> | ,324 |
| Total Land in Farms (71.5%) | 699 | ,461 |
| Non-Agricultural Lands | 264 | , 379 |
| Total Number of Acres in County (1940 U.S. Cens | us) 963 | ,840 |

Note:

Even though the farmers' gross income for Stanislaus County for 1945 appears large, in most cases his net income will be greatly reduced because of high labor, feed, and material costs that he was obliged to pay.

Revenue may be duplicated in some instances where such crops as Ladino clover pasture, alfalfa, native pastures and some of the feed crops may be produced and consumed on the same farm and be reported under both Livestock and Field Crops.

TRUCK CROPS

| <u>Crop</u> | Average <u>Yield</u> | Average <u>Price</u> | <u>Unit</u> | Acreage | Estimated <u>Value</u> |
|---|-------------------------|-------------------------|-------------|---------|------------------------|
| Cantaloupes | 250 crates | \$ 2.85 | Crate | 466 | \$ 332,025 |
| Honey Dews, Casabas, etc. | 12 tons | 38.00 | Ton | _ 1,776 | 353,856 |
| Watermelons | 12 tons | 20,00 | Ton | 954 | 228,960 |
| Sweet Potatoes (50#) | 1.35 baskets | .04 | Pound | 1,388 | 374,760 |
| Tomatoes | 10 tons | 26.00 | Ton | 3,752 | 975,520* |
| Spinach | 4 tons | 22.50 | Ton | 1,425 | 128,250 |
| Peas, Canning | 1,25 ton | 72.00 | Ton | 1,860 | 167,400 |
| Carrots | 15 tons | 22.00 | Ton | 125 | 41,250 |
| Melons and Other Truck Crop Seeds | | . 80.00 | Acre | 1,950 | 156,000 |
| Other Truck Garden Crops: Lettuce, Squash, Celery, Sweet Co Onions, Potatoes Peas (market) et | orn, | | | | |
| (Land Double Cropped) | | 230.00 | Acre | 1,690 | 388,700 |
| | | | | 14,386 | \$3,146,721 |

^{*}Rain damage caused loss in tomato yields to growers. West Side had heavy production possibilities.

1945

FRUIT, GRAPES AND NUTS

| Crop | Averag <u>Per</u> | | Average Price | <u>Unit</u> | Bearing Acreage | Estimated Value |
|---|----------------------|--------------|------------------|-------------|--------------------|----------------------|
| Almonds | 760 | `lbs. | \$.32 | Pound | 6,180 \$ | 1,502,976 |
| Apricots, Blenheims 2,455 Tiltons 13,910 16,365 tons | 3.02 | tons | 81.56 | Ton | 5,411 | 1,334,729 |
| Peaches (Clingstone) 110,097 tons | 10.3 | tons | 59.80 | Ton | 10,689 | 6,583,800* |
| Peaches (Freestone) 46,842 tons (canned, shipped, dried, and frozen packed produc | 11.10 tion) | tons | 46.50 | Ton | 4,220 | 2,178,153* |
| Figs | 1.75 | tons | 85.00 | Ton | 711 | 105,761 |
| Grapes (Raisin) Grapes (Canning and Shipping) | 6 6 | tons tons | 47.50 58.00 | Ton Ton | 6,680 600 | 1,903,800 208,800 |
| Grapes (Table) | 6 | tons | 65.00 | Ton | 1,323 | 515,970 |
| Grapes (Wine) | 5.5 | tons | 49.00 | Ton | 10,696 | 2,882,572 |
| Walnuts | 1,530 | lbs. | . 28 | Pound | 3,757 | 1,609,498 |
| Nursery Stock | | | 800.00 | Acre | 30 | 24,000 |
| All Other Fruits, Nuts and Berries | | | 200.00 | Acre | 985 | 197,000 |
| | | • . | | | 51,282 | \$19,047,059 |

^{*}Preliminary best estimate by representatives of cling and freestone peach industry December 17, 1945. Some loss on cling peaches was encountered during this season. Phillips cling production was light compared to 1944. Less loss of freestones in 1945 than 1944. Final canning production figures not available at this time.

1945

FIELD CROPS AND CULTIVATED PASTURE

| Crop | Averag Yield | • | Average <u>Price</u> | <u>Unit</u> | Acreage | Estimated <u>Value</u> |
|---|-----------------|---------|-------------------------|-------------|---------|------------------------|
| Alfalfa | 5,5 | tons | \$ 20.00 | Ton | 74,371 | \$ 8,180,810# |
| Alfalfa Seed | 165 | lbs. | . 32 | Pound | 650 | 34,320 |
| Grain Hay | 1.5 | tons | 16.00 | Ton | 19,382 | 465,168 |
| Cotton | 350 | lbs. | . 25 | Pound | 10 | 875 |
| Beans, all varieties (100 lb. sack) | 14.0 | sacks | 6.80 | Cwt. | 41,865 | 3,985,548* |
| Rice (100 lb. sack) | 38 | sacks | 3.50 | Cwt. | 2,706 | 359 , 898 |
| Wheat (140 lb. sack) | 6 | sacks · | 2.85 | Cwt. | 2,200 | 52,668 |
| Barley (110 lb. sack) | 10 | sacks | 2.25 | Cwt. | 59,000 | 1,460,250 |
| Oats (100 lb. sack) | 12 | sacks | 2.65 | Cwt. | 12,800 | 407,040 |
| Flax (56 lb. per bu.) | 14 | bushel | s 3.50 | Cwt. | 50 | 2,450 |
| Peanuts | 1200 | lbs. | 125.00 | Ton | 51 | 3,825 |
| Grain Sorghums | 1 | ton | 48,00 | Ton | . 801 | 38,448 |
| Corn and Other Miscellaneous Seeds, Sunflower, etc. | | | 55.00 | Acre | 1,101 | 60,555 |
| Silage Corn | 10 | tons | 8,00 | Ton | 4,524 | 361,920 |
| Iadino Clover Pasture | | | 35,00 | Acre | 70,496 | 2,467,360 |
| Ladino Clover Seed | 125 | lbs. | 1.65 | Pound | 450 | 92,812 |
| Sudan Grass Pasture | | | 15.00 | Acre | 4,262 | 63,930 |
| Guayule | Ave. | Rental | 28.00 | Acre | 2,800 | 78,400 |
| | | | | | 297,519 | \$18,116,277 |

#Rain damage caused loss in fifth cutting of alfalfa, affecting total yields per acre.
*Bean income dropped because summer temperatures affected yield and there was some loss due to rain.

LIVESTOCK AND POULTRY

| 172 3 | | | Estimated Value |
|-------------------|--|---------------------------------------|-----------------------|
| Kind | | | |
| Turkeys - Meat | 1,100,000 @ \$7.10 each | \$ 7,810,000 | |
| - Eggs | 6,000,000 @ 30¢ each | 1,800,000 | \$ 9,610,000 |
| | | | \$ 9,610,000 |
| Poultry - Iggs | 4,409,650 @ 43¢ | 1,896,150 | |
| - Meat | 350,000 @ 30¢ | 105,000 | |
| - Hens | 190,000 @ 3½# @ 25½¢ | 169,575 | 9 1 70 795 |
| | | | 2,170,725 |
| Rabbits - Fryers | 69,473 @ 72¢ | 50,021 | • |
| - Skins and B | reeding Stock | 11,502 | C3 E97 |
| | • | | 61,523 |
| Beef Cattle | 40,000 @ \$52 per head | 2,080,000 | |
| 3 | 22,500 fed | 450,000 | 2,530,000 |
| | | | 2,000,000 |
| Swine | 15,000 @ \$35.50 | | 532,500 |
| Dairy - Butterfat | 18,503,000 lbs. at \$1.00 | 18,503,000 | |
| - Meat and Bre | eding Stock | 2,500,000 | 21,003,000 |
| • | | | 51,000,000 |
| Sheep - Lambs | 24,000 @ \$10.20 | 244,800 | |
| - Ewes | 21,000 @ \$7.00 | 147,000 | |
| - Fed Lambs | 100,000 @ 15 lbs. @ \$14.00 per | cwt. 210,000 | • |
| (ewe | 176,000 lbs. @ 45¢ per lb. | 79,200 | And the second second |
| - Wool((lamb | 200,000 lbs. @ 40¢ per lb. | . 80,000 | 761,000 |
| | 300 (sold) | | 24,000 |
| Horses and Mules | 9,000 hives - 45 lbs. each | | |
| Honey . | 9,000 hives - 43 lbs. each @ 12¢ per lb. 5,000 lbs. beeswax @ $41\frac{1}{2}$ ¢ pe | 48,600 r lb. 3,884 | |
| | 5,000 Tos. neesway a #15th he | J. 100 0,001 | 52,484 |
| , | | • • • • • • • • • • • • • • • • • • • | \$36,745,232 |

AGRICULTURAL CROP AND LIVESTOCK REPORT

STANISLAUS COUNTY

1946

Agricultural Extension Service and
Department of Agriculture of Stanislaus County

UNIVERSITY OF CALIFORNIA
LIBRARY
MARGE OF AGRICULTURE
DAVIS

FORE WORD

This is the 20th annual crop and livestock report for Stanislaus County which has been compiled and published by the Stanislaus County Agricultural Extension Service. The last six reports have been jointly submitted by the Extension Service and County Agricultural Commissioner.

The 1946 season will show the largest gross agricultural income Stanislaus County has ever recorded. The farmers, shippers, and others responsible for the production and marketing of this record crop and livestock production are to be commended for an outstanding job which they have done this year. As during the past several years, farmers and shippers were faced with many complex problems which had to be overcome, causing additional effort and expense.

Acreages of permanent crops are reported in actual bearing acreage only, other crops in actual planted acreage. Livestock and livestock products are reported in numbers of sales of livestock and their products. Production is reported in units commonly used in marketing county crops and livestock products commercially in this county. Prices are reported on an average f.o.b. basis. This report represents the farmers' gross income. Cost of production, which would include harvesting and handling, must be deducted to get the net farm income. Revenue may be duplicated in some instances where such crops as Ladino clover pasture, alfalfa, native pastures and some of the feed crops may be produced and consumed on the same farm and be reported under both livestock and field crops.

Both the Farm Advisor and the Agricultural Commissioner have made every effort to make this report as accurate as possible. Data have been carefully checked for accuracy with various agencies and information has been obtained from the most reliable sources.

We wish to express our appreciation to all those who have assisted us in getting the necessary information which has made the compilation of this report possible.

A. A. JUNGERMAN County Farm Advisor

CROP SUMMARY

Stanislaus County produced better than average crops during the 1946 season. The beginning of the season was somewhat behind but with two warm spells, one in April and one in May, the season advanced and became about normal. Then the weather turned moderately warm but below normal weather for June with a fair July, and a short hot spell the beginning of August with the remainder of August and September below normal.

The harvest season after the hot spell in early August was unusually favorable for most crops, especially peaches, tomatoes, and beans. It also made for better quality of walnuts and grapes. Early rains in October were followed with clearing weather doing little damage until most crops were harvested. Practically no loss was encountered during the 1946 harvest due to rain, compared to the 1945 season.

Fruits and Nuts

Almonds -- Almond yields were above normal but not as high as in 1945. Some orchards, however, yielded more than in 1945. Orchards having high production in 1945 showed some decline in production this year. The harvest season was favorable.

Apricots -- One of the largest apricot crops was again produced in 1946, the second fairly large crop in succession. The crop was above normal.

Grapes -- The production of grapes was about normal with prices for both wine and raisin grapes higher than the previous year. The market strengthened materially after government controls were lifted. Table grape prices were good too.

Peaches - The peach season started fairly favorable for the ripening of early varieties until the early midsummers, such as Peaks and Paloros, when a week of high temperatures caused advanced ripening of fruit causing this variety to yield less. From then on the remaining season was favorable and Stanislaus County produced the largest tonnage of peaches in its history to date. Freestone peaches, especially Muirs and Lovells, showed a decline in prices from 1945.

Walnuts -- Yields of mature walnut orchards declined slightly but quality was better than in 1945. Increased yields were shown on younger orchards.

Field Crops

Alfalfa -- The season was unusually good for alfalfa and one of the best years for production and quality. There was practically no loss due to weather. There was some slight damage to a few fields due to the alfalfa caterpillar. Alfalfa seed production was above normal and yields were good.

Beans -- Cool weather in July and August was favorable for a good set of beans and yields were above normal for limas and below normal for blackeyes. The bean acreage has declined for the last three years in succession. Acreage has been used for other crops paying more money, until this year when bean growing has been the most profitable since they were produced in 1918 immediately following World War I. A very favorable harvest season was encountered this year. Yields of first crop blackeye beans were light.

Corn, Field -- An increased acreage of corn for grain on the east side of the county is noticeable.

Corn, for Silage -- Acreage planted to corn for silage was about normal. Yields were good.

Grain Crops -- Grain yields were about normal with acreages of barley slightly increased. The oat acreage remains about the same but wheat has steadily declined in acreage.

Ladino Clover -- Acreage of permanent irrigated pastures, usually classed as Ladino clover, increased about 13,000 acres over the previous year as irrigation water was ample and the season most favorable. Cattlemen, dairymen, and sheepmen are relying more and more on this important forage crop. In the last 15 years the crop has increased from a bare few thousand acres to over 83,000 acres at present. It now exceeds the alfalfa acreage this year by 20,000 acres.

Rice -- The rice acreage has held steady, yields being slightly lower, and prices were very good.

Sudan Grass -- Sudan grass still fills the need for a good quick summer pasture for livestock acreage was about normal.

Sweet Potatoes -- The sweet potato acreage has dropped below normal but yields and quality were maintained.

Truck Crops (Vegetables)

Baby Lima Beans -- Approximately 2,000 acres were harvested green for quick-freeze purposes with good yields.

<u>Carrots</u> -- Carrots were grown on the west side. Acreage was small and yields were normal.

Melons -- Acreage of watermelons was larger than in the past few years. Acreage of cantaloupes declined but honeydews, persians and casabas increased. The weather was favorable for yields and quality.

 $\underline{\text{Peas}}$ -- Peas for canning was slightly below normal. Yields on the west side were very good.

Spinach -- The spinach acreage was larger than normal. Yields were spotted due to a hot spell during early April but average yields were about normal.

Strawberries -- The county had the largest acreage of strawberries for the past number of years. Yields were about normal.

Sweet Corn -- Acreage of sweet corn is increasing. Yields and quality were good.

Tomatoes -- The season was very favorable for yield and quality of tomatoes, particularly on the vest side of the county. The county had one of the largest tomato crops and acress was larger than usual.

Home Gardens -- Home gardens declined since the war years but still show larger numbers than in pre-war years

Commercial truck farms have increased in number and acreage.

Livestock, Poultry, and Dairying

Beef Cattle -- Numbers of cattle and prices were fairly normal, most cattlemen holding for higher prices during the summer months because of meat control.

Dairying -- Dairy production has remained high in spite of shortage of concentrate dairy feeds earlier in the year. The number of cows increased slightly and dairy production was slightly higher over 1945.

 $\underline{\text{Hogs}}$ -- Hogs declined in numbers from 1945 due to feed costs but prices received were higher than in 1945.

Rabbits -- Rabbit production declined among amateur feeders but was increased by commercial producers. Therefore, production remained about the same as a year ago.

Sheep -- Sheep production held up about to last year's total, most lambs being finished on permanent irrigated pastures. Prices received were above those of last year.

Poultry -- Due to shortage of concentrates and feed grains, poultry flocks were cut about 15 to 20 per cent so production declined from 1945.

Turkeys -- Turkey production declined from 1945 because of shortage of feed grains and concentrates. The sale of hatching eggs was thus affected, also the number of meat birds for sale this year compared to the 1945 season. Turkey prices fluctuated violently because of the meat control and the decontrol of meat which lowered turkey prices toward the holiday season.

Honey --- Honey production showed an increase over 1945 and an increase in price received. Income from bees was almost double that of a year ago.

FRUIT, GRAPES, AND NUTS

| | | | PRODU | PRODUCTION | | F.O. | B. VALUE |
|--------------------|-------------------------|----------------------|----------------|---------------------------------------|---------|---------------------|-------------|
| Crop | | Bearing - Acreage | Per Acre | Total | Unit | Per Unit | Value |
| Almonds | | 6,400 | 55 | 3 , 520 | Ton | \$520.00 | \$1,830,400 |
| Apricots | | 5,411 | 6.38 | 34,528 | Ton | 91,62 | 3,163,541 |
| 1101 100 00 | (Canned | , | | 22,248 | Ton | 91.00 \$ | 2,024,568) |
| | (Dried | | | 1,411 | Ton | 615.00 | 867,765) |
| | (Shipped | | | 516 | Ton | 1.05 .00 | 54,180) |
| | (Frozen | | | 2,359 | Ton | 92.00 | 217,028) |
| Bo ysenbe : | rries | 25 | 640.00 | 16,000 | Crate | 2 25 | 36,000 |
| Figs | | 711 | 1 50 | 1,066 | Ton | 125.00 | 133,250 |
| Grapes, | Raisin | 6,851 | 7 | 47,957 | Ton | 65.00 | 3,117,205 |
| | Shipping and Canning | 600 | 7. | 4,200 | Ton | 72.00 | 302,400 |
| | Table | 1,323 | . 8. | 10,584 | Ton | 93.00 | 984,312 |
| ٠ | Wine | 10,797 | 5.5 | 59,383 | Ton | 9200 | 5,463,236 |
| Peaches, | Clings | 11.,365 | 13 34 + | 151,704 | Ton | 64 25 | 9,746,982 |
| | Freestones | 4,806 | 13.56+ | 65,180 | Ton | 47 59- | 3,101,900 |
| | (Shipping | | | 2,250 | Ton | 62 62 | 140,900) |
| | (Canning | | | 5,200 | Ton | 56.00 | 291,200) |
| | (Freezing | | | 2,500 | Ton | 58.00 | 145,000) |
| | (Drying | | | 7,890 | Ton | 320 ₋ 00 | 2,524,800) |
| Walnuts | | 3,790 | 81 | 3,070 | Ton | 560 00 | 1,719,20 |
| Miscella | neous Fruit | 1,178 | | | Acre | 350.00 | 412,30 |
| Nursery | Stock | 119 <mark>}</mark> | (100 acres | = \$250,00 @ \$8,000 = \$40,000 | per A = | \$124,000) | 414,00 |
| Strawber | rry Nursery | 50 | 20,000,0 | 000 plants | at \$10 | per 1,000 | 200,00 |
| | | 53,426 ¹ | · • | | • . | | \$30,624,72 |

ACREAGE ESTIMATES OF STANISLAUS COUNTY FRUIT AND NUT CROPS AS OF 1946

by Stanislaus County Department of Agriculture Milo M. Schrock, Agricultural Contellationer

| | ACRES BE | ARING | ACRES NON- | BEARING | TOTA | |
|---------------------|----------------|-------------|--------------------------|---------------------------------------|------------------|---------|
| <u> </u> | | | | | | n oou |
| A! MOLDS | | 6,400 | | 1,488 | | 7,888 |
| rarako | 765 | | 18 | | 73. | |
| Lureka | 38 | | 25 | | 63 | |
| 1.X.L. | 640 | | 64 | | 704 | |
| Jordanola | 15 | | | | 15 | |
| | 17 | | | | <u>1</u> 7 | |
| Lewelling | | | 670 | | 2,302 | |
| Mission (Texas) | 1,632 | | 136 | | 777 | |
| Ne?Tas Ultra | 641 | | 557 | | 2,747 | • |
| Longs reil | 2,190 | | 10 | | 39 | • |
| Peerless | .29 | | | | 441 | ., |
| Other varieties | 433 | | 8 | | * * * | |
| APPINS | | , ნ | | ₩. - | | 5 |
| APKIDDIS | | 5,411 | | 9 | | 5,420 |
| | 806 | - , | 3 | | 809 | |
| Blenheim-Royal | | | #1#1 | | 136 | |
| M. spark-Hemskirk | | | 6 | | 3,362 | |
| Thirton | 3,356 | | | | 1,113 | |
| () or varieties | 1,113 | | | | -, | |
| HERRIAS | | 1.70 | | | | 170 |
| Sing | 35 | | ₩.₩. | | 35 | |
| Fl. Republican | 11 | | | | 11 | |
| _ | 3 | | | | 3 | |
| Onaphan | 5 | | . | | 5 | |
| lerert | 85 | | | | 85 | |
| Royal Ana | 31 | | - | | 31 | |
| r rtarian | OT | | | | | 20 |
| · FETNUTS (ALL) | | 20 | | | | 20 |
| | | | | | | 711 |
| B145 | | 711 | | | 334 | علىبك ا |
| 313K | 334 | | | | | |
| Oalimyrna | 62 | | | | 62 | |
| Kolota | 244 | • | w · ** | | 244 | |
| White Adriatic | 71 | | sec - 6-, - | | 71 | |
| William Mariagra | | | | | | 10 |
| DEAPETRUIT (MARSH) | | 10 | | | | 10 |
| | | va 4 *** ** | | 634 | | 8,085 |
| JAAPES (RAISIN) | | 7,451 | 4 | 004 | 255 | -, |
| Muggat | 249 | | 6 | | 255 30 | |
| Sul mana | 30 | | | | | |
| Thempson | 7,110 | | 627 | | 7,737 | |
| Sante Currant | 62 | | 1 | | 63 | |
| | | 3 000 | | 16 | | 1,339 |
| MATAS (TABLE) | | 1,333 | | 1,0 | 6 | , |
| Concord | 6 | | • | | 176 | |
| Maporor | 176 | | | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 | 788 | |
| Moltrega | 788 | | | | | |
| Red Malaga | 211 | | 606 - 100 ₄ 1 | | 21.1 | |
| Hillioga Hilliog | 72 | | · · · • · · . • | | 72 | |
| | 40 | | · w. · | | 40 | |
| Tokay | 2 0 | | 1.6 | | 46 | |
| O til er r | 00 | | | | | |

| CROP | ACRES B | EARING | • | ACRES N | ON-BEA | RING | <u>ror</u> | 'AL |
|---------------------------------|------------------|--------|---|---------|--------|-------|--------------|--------|
| · · · · · · · · · · · · · · · · | | 10,797 | | 7.00 | | 845 | rz ∩19 | 11,642 |
| Alicante | 2,907 | | | 105 | | | 3,012 | |
| Burger | 95 | | | | | | 95 = 63.8 | |
| Carignane | 5,214 | | | 403 | | | 5,617 | |
| Colombar | 17 | | | | | | 17 | |
| Palomino | 1.4.1 | | | 173 | | | 314 | |
| Grenache | 181 | | | 15 | | | 196 | |
| Mission | 305 | | | 37 | | | 342 | |
| Zinfandel | 1,521 | | | 76 | | | 1,597 | |
| Other (white) | 120 | | | | | | 120 | |
| " (dark) | 296 | | | 36 | | | 332 | |
| NECTARINES | | 131 | | | | | กา | 131 |
| Gower | 21 | | | | • | | 21 | 9 |
| Quetta | 39 | | | | | | 39 | |
| Stanwick | 33 | | | | | | 33 | |
| Other varieties | 38 | | | | | | 38 . | |
| OLIVES | | . 255 | | | | | _ | 255 |
| Ascolano | 1. | | | | | | 1 | |
| Barouni | 1 | | | | | | 1 | |
| Manzanillo | 111 | | | | | | 111 | |
| Mission | 116 | | | | | | 116 | |
| Sevillano | 1 | | | | | | 1 | |
| Other varieties | 25 | | | | | | 25 | • |
| ORANGES | | 44 | | | | | | 44 |
| Navel | 38 | | | | | | . 38 | |
| Other | 3 | | | | | | 3 | |
| Seedling | 3 | | | | | | 3 | |
| | | | | | ı | 7 101 | | 14,466 |
| - | | 11,365 | | 770 | | 3,101 | 7 677 | 14,400 |
| Gaume | 1,519 | | | 112 | | | 1,631 | |
| Halford | 2,635 | | | 346 | | | 3,031 | |
| Hauss | 26 | | | | | | 26 | |
| Johnson | 85 | | | 20 | | | 105 | |
| Libbee | 6 | | | | | | 6 | |
| Pal oro | 2,461 | | | 204 | | | 2,665 | |
| Peak · | 947 | | | 326 | | | 1,273 | |
| Phillips | 1,936 | | | 1 | | | 1,937 | |
| Sims | 233 | | | 47 | | | 280 | |
| Tuscan | 296 | | | | | | 296 | |
| Other | 1,171 | | | 2,045 | | | 3,21.6 | |
| PEACHES (FREESTONE) | (1 0 0 0 0 0 0 D | 4,806 | | | | 407 | | 5,213 |
| Babcock | 5 | | | | | | 5 | |
| Crawford | 21 | | | | | | 21 | |
| Early Elberta | 20 | | | | | | . 20 | |
| Elberta | 71.8 | | | 227 | | | 945 | |
| Hale | 339 | | | 19 | | * | 358 | |
| Lovell | 1,990 | | | 101 | | | 2,091 | |
| Muir | 1,076 | | | . 2 | | | 1,078 | |
| Salway | 10 | | | | | | 10 | |
| Other | 627 | | | 58 | | | 685 | |
| 0.01101 | | | | | | | | |

| CROP | ACRES BI | EARING | ACRES NON- | BEARING | TOTAL | <u>.</u> |
|---|--|--------|----------------------------------|---------|--|----------|
| PEARS (Bartlett) | n n a * * 6 * * | 57 | | | | 57 |
| PECANS (ALL) | | 73 | | | | 73 |
| PERSIMMONS | 3 5 | 8 | | | 3 5 | 8 |
| PLUMS | 1 44 | 183 | | 2 | 1 44 | 185 |
| President Santa Rosa Tragedy Wickson | 59 26 14 17 | | 2 | | 59 28 14 17 | |
| Other | 22 | | <u> </u> | | 22 | 8 |
| POMEGRANATES Wonderful Other | 5 3 | 8 | | | 5 5 | |
| PRUMES French Imperial Sugar | 92 5 110 | 207 | | | 92 5 110 | 207 |
| QUINCES (ALL) | | 7 | | | | 7 |
| WALNUIS | 122 886 1,068 155 1,315 83 16] | 3,790 | 15 104 278 89 63 | 561 | 137 990 1,346 244 1,378 83 173 | 4,351 |
| TOTAL ALL | | 53,232 | | 7,063 | | 60,295 |

FIELD CROPS

| | | PROD | UCTION | | F.O.B | B. VALUE | |
|----------------|-------------------------|----------|-----------|------|--------------|------------------|--|
| Crop | Acreage | Per Acre | Total | Unit | Per Unit | Value | |
| Alfalfa | 63,101 | 6.4 | 403,846 | Ton | \$27.50 | \$11,105,765 | |
| Farley | 59,770 | 16.25 | 971,262 | Cwt. | 3.00 | 2,913,786 | |
| Beans, Dry | 40,769 | 16.00 | 652,304 | Cwt. | 13.25 | 8,643,028 | |
| Bean Straw | 25,000 | 1.00 | 25,000 | Ton | 12.00 | 300,000 | |
| Corn, Grain | 487 | 23.2 | 11,298 | Cwt. | 3.20 | 36,153 | |
| Corn, Silage | 4,596 | 10.0 | 43,960 | Ton | 8,00 | 351,680 | |
| Cotton | 50 | 425.0 | 21,250 | Lb. | .31 | 6,537 | |
| Grain Sorghum | 507 | 16.00 | 8,112 | Cwt. | 3.15 | 25,552 | |
| Hay, Grain | 18,207 | 1.60 | 29,131 | Ton | 23.00 | 670,013 | |
| Hay, Wild | 10,250 | 1.25 | 12,812 | Ton | 19.00 | 243,428 | |
| Oats | 12,372 | 11.00 | 136,092 | Cwt. | 5.25 | 442,299 | |
| Pasture, Range | 283,000 | | | Acre | 1.25 | 353 , 750 | |
| • | ent Irrigated o) 83,230 | | | Acre | 45.00 | 3,745,350 | |
| Sudan | • | | | Acre | 25.00 | 155,425 | |
| Stubbl | • | | | Acre | 1.25 | 92,576 | |
| Rice | .2,866 | 33.5 | 96,011 | Cwt. | 4.25 | 408,046 | |
| Sugar Beets | 396 | 11.75 | 4,653 | Ton | 14.00 | 65,142 | |
| Sweet Potatoes | 1,038 | 8,000 | 8,304,000 | Lb. | .04 <u>1</u> | 373,680 | |
| Wheat | 919 | 10.6 | 9,741 | Cwt. | 3,50 | 34,093 | |
| • | 686,636 | | | | | \$29,966,353 | |

TRUCK CROPS (VEGETABLES)

| | | PRODUCTION | | | F.O.B. VALUE | | | |
|--|---------|-----------------|--|----------------|--------------|-------------|--|--|
| Crep | Acreage | Per Acre | Total | Unit | Per Unit | Value | | |
| Cantal oupes | 448 | 200 | 89,600 | Crate | \$ 3.25 | \$ 291,200 | | |
| Carrots | 165 | 15 | 2,475 | Ton | 50.00 | 123,750 | | |
| Honeydews and Casabas | 1,427 | 10 | 14,270 | Ton | 35.00 | 499,450 | | |
| <pre>Lima Beans (for freezing)</pre> | 2,000 | 3200 | 640,000 | Lò. | .06 | 364,000 | | |
| Peas | 2,404 | 1.75 | 4,207 | Ton | 78.00 | 328,146 | | |
| Spinach | 2,878 | 4.5 | 12,951 | Ton | 24.00 | 310,824 | | |
| Strawberries | 75 | 600 | 45,000 | Crate (9# e | | 93,150 | | |
| Sweet Corn | 260 | 125 | 32,500 | Crate (65∦ | | 73,125 | | |
| Tomatoes | 5,364 | 16 | 85,824 | Ton | 26.00 | 2,231,424 | | |
| Watermelons | 2,121 | 12 | 25,452 | Ton | 30.00 | 763,560 | | |
| Other Garden Truck Crops | 956 | . - | y 1. ° . ° . ° . ° . ° . ° . ° . ° . ° . | Acre | 230.00 | 219,880 | | |
| | 18,098 | | | | | \$5,318,509 | | |

LIVESTOCK AND POULTRY

| Kind | | Amount | Per Unit | | Value |
|--|-----------------|-------------------------|---|------------------|--------------|
| *Beef Cattle | | 42,000 head | \$62.00 each | \$2,604,000 | • |
| | | 22,500 fed | | 652,000 | \$ 3,256,000 |
| *Dairy, Bu | itterfat | 19,278,000 lbs. | \$ 1.06 per lb. | 20,434,680 | |
| Meat and breeding stock | | | | 2,850,000 | 23,284,680 |
| Honey - 9,000 hives 50 lbs. per colony Wax 4,440 lbs. 3,000 queen bees 900 3-lb. packages 1,000 Colonies for pollinization | | | \$ 20 per 1b41\frac{1}{2} per 1b. 1.00 each 4.00 per pkg. 1.00 per col. | 3,000 3,600 | 99,442 |
| Horses ar | nd Mules | 300 (sold) | | | 24,000 |
| Poultry, | | 4,409,650 doz. | \$.46 each doz | 2,028,439 | |
| - , | Meat | 350,000 lbs. | 36 each | 126,000 | |
| | Hens | 190,000 @ 3½ lbs. | .27 per 1b. | 179,550 | 2,333,989 |
| Rahbits, | | 64,441 reeding Stock | \$ 75 each | 48,331 10,427 | 58,758 |
| *Sheep, | Lambs | 24,000 | 13 00 each | 312,000 | |
| • | Ewes | 21,000 | 7.50 each | 157,500 | |
| | Fed Lambs | 100,000 @ 15 lbs | 16 00 per cwt | 240,000 | |
| | (Ewe | 176,000 lbs | 48 per 1b | 84,480 | |
| | Wool ((Lamb | 200,000 lbs. | 42 per 1b | 84,000 | 877,980 |
| Swine | | 12,000 | 45 00 each | | 540,000 |
| Turkeys, | Meat | 913,000 | 6 84 each | 6,244,920 | |
| | Eggs | 5,000,000 | .32 each | 1,600,000 | 7,844,920 |
| | | | | | \$38,319,769 |

^{*}Subsidy payments included.

SEED CROP PRODUCTION

| | PRODUCTION | | | | F.O.B. VALUE | |
|------------|------------|----------|---------|------|--------------|-----------|
| Crop | Acreage | Per Acre | Total | Unit | Per Unit | Value |
| Alfalfa | 675 | 315 | 212,625 | Lb. | \$ 43* | \$ 91,428 |
| Cantaloupe | 30 | 216 | 6,480 | Lib | .50 | 3,240 |
| Cucumbers | 6 | 127 | 762 | Lib. | . 45 | 343 |
| Gourds | 25 | 320 | 8,000 | Lb. | 35 | 2,800 |
| Ladino | 300 | 125 | 37,500 | Lb. | 120 | 45,000 |
| Pumpkin | 82 | 260 | 21,320 | Lb. | 35 | 7,462 |
| Squash | 318 | 190 | 60,420 | Lb. | .30 | 18,126 |
| Watermelon | 612 | 245 | 149,940 | Lb. | . 30 | 44,982 |
| • | 2,048 | | | | | \$215,381 |

^{*}Includes A.C.A payment of 7¢ per lb.

SUMMARY

| <u>Ttem</u> | Acreage | Estimated Value |
|--------------------------|---------------------------------------|-----------------|
| Fruit, Grapes, and Nuts | 53,426 ½ | \$30,624,726 |
| Field Crops | 686,636 | 29,966,353 |
| Truck Crops (Vegetables) | 18,098 | 5,318,509 |
| Seed Crop Production | 2,048 | 213,381 |
| Livestock and Poultry | • • • • • • • • • • • • • • • • • • • | 38,319,769 |
| | 760,127 1 | \$104,442,738 |